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Question Number : 1 Question Id : 5038906641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given responses, find the missing term in the series.

S3L, M50, G9R, ?
Options :

1. ¥ Al17U

2. % AISV

3. % HI17F

4. % C13K

Question Number : 1 Question Id : 5038906641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fau e fawmed & 9, 30ft # g ue &) 31d Y

S3L, M50, G9R, ?
Options :

1. ¥ A17U

2. % Al15V

3. % HI7F

4. * C13K

Question Number : 2 Question Id : 5038906642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given responses, find the missing letter cluster in the series.

TK, RM, PO, ?, LS
Options :
1. ¥ MP
2. ¥ NQ
3. % MN
4. % PK

Question Number : 2 Question Id : 5038906642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu U fasedi O 9, 9uft T I 31&R TYE &1 ATd HI|

TK, RM, PO, ?, LS
Options :
1. * MP
2. ¥ NQ
3. * MN




4. = PK

Question Number : 3 Question Id : 5038906643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the odd one from the given alternatives.
Options :

1. ¥ Y24A

2. % R14D

3. % QI10G

4. ¥ DISU

Question Number : 3 Question Id : 5038906643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fau 7T fdemed O 1 ol g |

Options :

1. ® Y24A

2. % R14D

3. # QI10G

4. ¥ DI18U

Question Number : 4 Question Id : 5038906644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the related word from the given alternatives.

Temperature : degree : : Energy : ?
Options :

1. * Litre

2. * Power

3.4 Joule



4. * Distance

Question Number : 4 Question Id : 5038906644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fefeiRed faseul & 9 defdd 2reg |
e : {83t Setl ;2

Options :

1. ® iR

2. ® Mo

3. ¥ 9

4. % g

Question Number : 5 Question Id : 5038906645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related letters from the given alternatives.

CHMQ : HMRYV : : EAFO : ?
Options :

1. # JKVG

2. % JKVH

3. # JKIV

4. ¥ JFKT

Question Number : 5 Question Id : 5038906645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feferRad U #, fau 7T fashetl & & Heifird 3faRri o1 7 oY |
CHMQ : HMRV : : EAFO : ?

Options :



1. ® JKVG
2. # JKVH
3. # JKIV
4. % JFKT

Question Number : 6 Question Id : 5038906646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, 'FUNCTION' is written as 'CNUFNOIT'. How will 'OXYTACIN' be written as in that language?
Options :

1. ¥ TYXONICA

2. % TXYONICA

3. ¥ TYXOINCA

4. ¥ TYXONIAC

Question Number : 6 Question Id : 5038906646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forelt Ff8rd e NI &, 'FUNCTION' @1 'CNUFNOIT' & 9 H fordT STl 8 | 39 HINT # 'OX Y TACIN' &1 & foraT Simem?
Options :

1. ¥ TYXONICA

2. % TXYONICA

3. ¥ TYXOINCA

4. % TYXONIAC

Question Number : 7 Question Id : 5038906647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a row of girls, if Rohini who is 12th from the left and Mihika who is 9th from the right interchange their seats, Rohini becomes 18th from the
left. How many girls are there in the row?

Options :
1. % 17



2.% 20
3. % 22
4.9 26

Question Number : 7 Question Id : 5038906647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Jefrdl 3t e tfdd & afe Aol St fob ST 129 = WR 3R gt S f g ¥ od R W B, 301 - 3y # uRafdd &R adt §
o ST AfRol 189 RIMA WR 311 91l g | Ufad & wrsfaral 1 fa et fha1 g 2

Options :

1. # 17

2. %20

3. % 22

4.9 26

Question Number : 8 Question Id : 5038906648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sonam is older than Renu. komal is younger than Renu. Priya is older than Sonam. Who is the eldest of them?
Options :

1. ¥ Priya

2. % Sonam

3. * Renu

4. % Komal

Question Number : 8 Question Id : 5038906648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I, F A IS 81 A, A BT 2| O, T A 981 81 390 I Jad 981 DI 82
Options :

1.« Torm

2. % g Y




3. % 3
4. % DA

Question Number : 9 Question Id : 5038906649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question below, there are two statements followed by four conclusions given in options. You have to take the given statements to be true
even if they seem to be at variance with commonly known facts and then decide which of the given conclusion logically follow(s) from the given
statements.

Statements:
Some inks are not links.
Some inks are pinks.

Options :

1. ¥ Some links are not inks
2. # All inks are pinks

3. % Some inks are not pinks
4. # All inks are links

Question Number : 9 Question Id : 5038906649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T feu T Uy H, & U9 & §16 fawed] & IR Fpd QU MU § | Siue! T 7T Sl &1 I A1 8, HA 81 o Jawnd adl o g Ui
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DHY:

F3 W, fiid 781 g |
$3 el fie g |
Options :

1. ¥ $B foiep, We 78T &
2. % gt e, fiep §

4. % gt @rg), foiew &




Question Number : 10 Question Id : 5038906650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question given below, there are two statements followed by three conclusions. You have to take the given statements to be true even if they
seem to be at variance with commonly known facts and then decide which of the given conclusion logically follow(s) from the given statements.

Statements:
I. All sparrows are parrots.
II. All parrots are birds.

Conclusion:

I. No sparrows are birds

II. No birds are sparrows
II1. Some birds are sparrows

Options :

1. * Only conclusion I follows
2. * Only conclusion II follows
3. % Only conclusion III follows

4. % All conclusions follow

Question Number : 10 Question Id : 5038906650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T feu T Uy . 3 HUF 3R 39S 91 IiF Fps QU T B | SUe! T T Sl &1 I A1 6, HA 81 d Jasnd adl o g uefid gl
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Options :

1. # $Had [T5HY [ 3IERU Hdl §
2. % %Had fSHY 11 TR0 HdT &
3. ¢ Had By 111 3R Hal §
4. % Jft fFreepef S ERUT v §

Question Number : 11 Question Id : 5038906651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question given, relations between different elements are shown in the statements. These statements are followed by two conclusions. Find
out which of the given conclusions follow(s) the given statements and select the correct alternative from the given choices.

Statement:
Z<J=Y<K=X>L

Conclusions:
[.Z<K
II.Z=K

Options :

1. # If only conclusion I follows

2. # If only conclusion II follows

3. % If either conclusion I or conclusion II follows

4. % If neither conclusion I nor conclusion II follows

Question Number : 11 Question Id : 5038906651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu U Uy H, Sy # A4 3rqudl & o9 ey ol T T 81 HUT & 915 &l sy fau 7w §1 R U 599 & 3nyR R st &
3T HIfo MR Ifed IR &1 gL

HY:
Z<J=Y<K=X=>L

.



I.Z<K
II.Z=K

Options :

1. % g dad Fsh [ 3FIER0 HRT1 §

2. % g Had (5HY 11 SR &l §

3. ¢ i a1 a1 e 1 a1 e 11 SERu R §

4. % gfg T Fpy 1 3R 9 8 e 11 S0 HraT 8

Question Number : 12 Question Id : 5038906652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the related number from the given alternatives.

5:124::6:215::7:7
Options :
1. % 125
2. % 248
3.9 342
4. % 343

Question Number : 12 Question Id : 5038906652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fau U fas el O Sdferd e &1 gfu|
5:124::6:215::7:7?

Options :

1. % 125

2. % 248

3.9 342

4. % 343



Question Number : 13 Question Id : 5038906653 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing number in the series given below.

128, ?, 82, 62, 44, 28
Options :

1. ®* 99

2.9 104

3. % 109

4. % 106

Question Number : 13 Question Id : 5038906653 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 <t et 9of o e e 1 S

128, ?, 82, 62, 44, 28
Options :

1. % 99

2.¥ 104

3. % 109

4. % 106

Question Number : 14 Question Id : 5038906654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If each circle represents a class of objects/ideas written below, then find out the answer figure which illustrates best relationship among.

"Vegetable, Brinjal, cabbage "
Options :



3. %

4. <

Question Number : 14 Question Id : 5038906654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i UAP I Al 4T 7T FRg3fl/faaR] &1 a=id 5, 1 98 IR SHTHTd 1 B Sl (9 § o IgaR G5 D G|

"ot ST, O T
Options :

(@




2. %

Question Number : 15 Question Id : 5038906655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following figure, Rectangle represents Dancer, Hexagon represents Politician, pentagon represents Lawyer and circle represents Doctor.
Which set of letters represents dancers who are politician and doctor?

Options :
1. % ¢



2. % a
3.% p
4. ¥ (d

Question Number : 15 Question Id : 5038906655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frafafed snefa §, smad Adioal ®I G §, NCYS Al D! GRIIdT 8, TaYSl adbId P GRIIdT § 3R ga Aiddd I G-Il & | &R
1 DI T THE (bl Pl G=idl § off o 3R fifrcsd g2

Options :
1. ® ¢
2. % a
3.%Db
4.9 d

Question Number : 16 Question Id : 5038906656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A boy runs 20m towards East and runs 10m after taking a right turn and again turns to right and runs 10m and then turns to left and runs S5m and
again turns to left and runs 12m and finally turns to left and runs Sm. Now in which direction is he facing?

Options :



1. # South
2. ¥ North
3. % East

4. ¥ West

Question Number : 16 Question Id : 5038906656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP ASH] Jd B1 3R 20 Hier GISdl § 3R 3¢ gSax 10 Hiex gredr g iR fhr amg 10 Hiex qrsdr g iR fhr ¢ g s HieR
3ISdr g 3R fihR a1 e 12%%@%@?%%@&?@%@?5%%% 3§ I g fpg femm # g2

Options :
1. % afaro
2. % 3R

3. % gd

4. % Uiy

Question Number : 17 Question Id : 5038906657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related figure from the given alternatives.

Question figure:
Ak = 0@ %
O@ l@*ll‘& " -

Options :

]
@|$




OA
. [efs
A
8%
A
ZE

Question Number : 17 Question Id : 5038906657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy 4, idu T fasedl @ TafRid sipfa &1 994 6L
W gt

Alk| = (O]@==O]$
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Options :

LA
@[ %




OA
. [efs
A
8%
A
ZE

Question Number : 18 Question Id : 5038906658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many triangles are there in the given figure ?

Options :
1. % 10
2. % 11
3.¥ 12
4. % 13



Question Number : 18 Question Id : 5038906658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&l srrepfcr H b Biye 82

Options :
1. %10
2. % 11
3.4 12
4. % 13

Question Number : 19 Question Id : 5038906659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which answer figure will complete the pattern in the question figure?

Options :



2.¥

Question Number : 19 Question Id : 5038906659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DHIF-T IR 3BT, U 3P & e d &l G-I B



Question Number : 20 Question Id : 5038906660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Find the mirror image of the given figure.

Options :

L

4.

Question Number : 20 Question Id : 5038906660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

31 Tt s fa &1 gdur ufdfets I1d Sifve|



Group Number :
Group Id :

Group Maximum Duration :
Group Minimum Duration :

Show Attended Group? :

General Awareness
2
503890154
0
0
No



Edit Attended Group? : No

Break time : 0
Group Marks : 20
Is this Group for Examiner? : No

General Awareness

Section Id : 503890262
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 503890310
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 5038906661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

India Gate is a memorial built to commemorate the Indian soldiers who died in which of the following events?
Options :

1. ® 1857 Revolt

2. % 1919 Jallianwala Bagh Massacre

3. % 1947 India-Pak War

4. % World War 1

Question Number : 21 Question Id : 5038906661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Sfear e Fyfaied o 9 fd ge1 & 2@ie §T YR S| &1 a1g | S 711 Th ¥R 87
Options :

1. % 1857 1 a8

2. % 1919 Sferiare 91T gATH1S

3. % 1947 URA-UT$ g

4.« a4 gg 1

Question Number : 22 Question Id : 5038906662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many verses are there in the Samaveda?
Options :

1. * 900

2. % 1001

3. %1028

4. % 1875

Question Number : 22 Question Id : 5038906662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
qmag & o fava- Talid g2

Options :

1. % 900

2. % 1001

3. % 1028

4, ¥ 1875

Question Number : 23 Question Id : 5038906663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Elephanta caves is a conglomeration of how many caves?
Options :



1. %5
2.7
3.%9
4, % 11

Question Number : 23 Question Id : 5038906663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TcitheT T fard it w13l o1 THE 82
Options :

1. %5

2.9 7

3.%9

4. % 11

Question Number : 24 Question Id : 5038906664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which economist is known as the brainchild behind the 1991 LPG reforms in India?
Options :

1. % Amartya Sen

2. ¥ MS Swaminathan

3. ¥ Manmohan Singh

4. ¥ Verghese Kurien

Question Number : 24 Question Id : 5038906664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRA A 1991 & TaAdion UR! o G foo it &1 97 fear S g2
Options :

1. % AT I



2. % THUY WHHYHA
3. ¢ AAIg g
4. % IS HiaA

Question Number : 25 Question Id : 5038906665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is called GDP Deflator?
Options :

1. # Ratio of nominal to real GNP

2. % Ratio of nominal to real CPI

3. # Ratio of real to nominal GNP

4. ¥ Ratio of nominal to real GDP

Question Number : 25 Question Id : 5038906665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frofafed 3 3 ford et fetkie a1 ordn 82

Options :

1. % YT &1 IRAAD hdl g MG Y SUTd

2. % A &1 IR WSS I ST

3. % qRKdfded Y ATHAE SYAUT BT 30T

4. STHHTE Fobdl T IUIG D] aIddeh Fobel U] SdTG b 1Y 3UTd

Question Number : 26 Question Id : 5038906666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is used in making Pencils?
Options :

1. ¢ Graphite

2. % Silicon



3. % Charcoal
4. % Phosphorus

Question Number : 26 Question Id : 5038906666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafafea & 3 forge van URid s 3 fosar sirar g2
Options :

1. ¢ YBIgC

2. % f¥ferpr

3. % bl B DIl

4. % BRORY

Question Number : 27 Question Id : 5038906667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What does the P in pH Value stands for?
Options :

1. # Purity

2. % Physical

3. ¥ Potenz

4. % Phosphorus

Question Number : 27 Question Id : 5038906667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e (pH) A | i(p) &1 3 31 g2
Options :

1. ¥ R[&dT (Purity)

2. % rJ-ﬁ'f%|73|'7(Physical)

3. ¢ gicll (Potenz)



4. ¥ BREHRY

Question Number : 28 Question Id : 5038906668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the highest peak in the Eastern Ghats of India?
Options :

1. % Anai Mudi

2. % Mount Everest

3. % Kanchenjhunga

4. ¥ Mahendragiri

Question Number : 28 Question Id : 5038906668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoad 7 @ St 4R & gdf ure &) god it A 72
Options :

1. ® 3T g

2. % A& TaT

3. % I

4. & ARG R

Question Number : 29 Question Id : 5038906669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the name of the outermost range of the Himalayas?
Options :

1. #* Pir Panjal

2. ¥ Shiwaliks

3. % Dhaula Dhar

4. % Mahabharat



Question Number : 29 Question Id : 5038906669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fROTE BT T JTERt SRl BT =19 1 82
Options :

1. % UR Golre

2. ¢ fRrarfei

3. % AT UR

4. % HelHRd

Question Number : 30 Question Id : 5038906670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year was the Dandi March organized?
Options :

1. % 1920

2. % 1925

3.9 1930

4. % 1932

Question Number : 30 Question Id : 5038906670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Giet AT forg v & Sriford fobs 715 o
Options :
1. % 1920
2. % 1925
3.9 1930
4. % 1932



Question Number : 31 Question Id : 5038906671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When was the Taj Mahal designated as a UNESCO World Heritage Site?
Options :

1. ¥ 1983

2. % 1947

3. % 1962

4. % 2001

Question Number : 31 Question Id : 5038906671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ATSTHEd B gA%h! Dt fay eRIgR RId o &4 § o A0 forar mm o
Options :

1. % 1983

2. % 1947

3. % 1962

4. % 2001

Question Number : 32 Question Id : 5038906672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Whom did the Mughal Army fight in the 2nd Battle of Panipat?
Options :

1. # Maharana Pratap

2. % Hemu

3. #* Sher Shah Suri

4. % Chhatrapati Shivaji

Question Number : 32 Question Id : 5038906672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

THIId & gER deTs H JTd 31 A foherd eTs aal o
Options :

1. # HeRIUT Ydu

2.¥8g

3. % IR

4. % FAYLC fRrarit

Question Number : 33 Question Id : 5038906673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What part of the Indian Constitution provides for the Directive Principles of State Policy?
Options :

1. %1

2.% 2

3.¥ 4

4. % 6

Question Number : 33 Question Id : 5038906673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR HfaLT & fobet Wi 5 ey & i e dedl &1 uray™ 82
Options :

1. %1

2.% 2

3.¥ 4

4. % 6

Question Number : 34 Question Id : 5038906674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What Article of the Indian Constitution provides for free legal aid to the poor and weaker sections of the society?



Options :
1. ® 30
2. % 39A
3. % 36
4. % 41

Question Number : 34 Question Id : 5038906674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRATT T &1 D AT 3fe JHIS & TR 3R FHSIR a1 1 0T BT TeTdl YaH &Rl 82
Options :

1. % 30

2. % 39A

3. % 36

4. % 41

Question Number : 35 Question Id : 5038906675 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who is the author of the book "Wild and Wilful"?
Options :

1. ¥ Neha Sinha

2. * NV Ramana

3. # Sanjeev kumar

4. * Saurabh Garg

Question Number : 35 Question Id : 5038906675 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
"ITETE TS fAapa” Jidd & s HH 82
Options :




1. ¢ 381 Rt
2. % TG AT
3. % olld AR
4. % IRY Wi

Question Number : 36 Question Id : 5038906676 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following received the Vyas Samman 20207?
Options :

1. # Nasima Sharmma

2. % Leeladhar Jagufi

3. ¥ Sharad Pagare

4. % Amitav Ghosh

Question Number : 36 Question Id : 5038906676 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAafeRad O 9 ford e 91 2020 U §3H1?
Options :

1. % T3 T

2. % WICeR S

3. ¥ TRGE WIR

4. % AU Oy

Question Number : 37 Question Id : 5038906677 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following is credited for making the first fully indigenous silent feature film in India?
Options :

1. # Dhirendra Nath Ganguly



2. # Satyajit Ray
3. % Dada Saheb Phalke
4. # Raj Kapur

Question Number : 37 Question Id : 5038906677 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frofafed o 9 f5e yRd & ugdh yuf ez 0o wieR fve s &1 99 fear wmar g2
Options :

1. % Res =7y et

2. % FIGld X

3. ¥/ GIaT UIgd BIdidh

4. % T HYR

Question Number : 38 Question Id : 5038906678 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is India's rank in UN World Happiness Report 20217
Options :

1. % 120th

2. % 149th

3. % 123th

4. % 139th

Question Number : 38 Question Id : 5038906678 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U a0 aWHY RUIC 2021 H YR HI 3 FT 82
Options :

1. % 1209t

2. % 149



3. % 1239f
4.+ 13991

Question Number : 39 Question Id : 5038906679 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who is the first male cricketer to reach 3000 T20 international runs?
Options :

1. # Chris Gayle

2. % AB De Villiers

3. % Rohit Sharma

4. ¥ Virat Kohli

Question Number : 39 Question Id : 5038906679 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3000 €120 SARRIBIT I T UgaH dTe! Ugd Yoy fohdher HIH 57
Options :

1. # fopg e

2. % Udll fefaferasd

3. % Afga i

4.  faRTe Diga

Question Number : 40 Question Id : 5038906680 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which team won the Coppa Italia 2021?
Options :

1. # Atlanta

2. % AC Milan

3. % Juventus



4. * Napoli

Question Number : 40 Question Id : 5038906680 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P11 3eTrerar 2021 fbg A 7 Sitam

Options :
1. # 3fcdier
2. % Tl e
3. ¢ Jdcq
4. % Oyt
Arithmetic Ability
Group Number : 3
Group Id : 503890155
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Arithmetic Ability
Section Id : 503890263
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20

Number of Questions to be attempted : 20



Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 503890311
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 5038906681 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the smallest fraction of the following fractions?

Options :
7
| % 11
21
) ® 37
34
43
4 % 87

Question Number : 41 Question Id : 5038906681 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoad firel & @ I ©1¢t fir J1d Bifey

Options :



21
a7

34
3.¢ 71

43

Question Number : 42 Question Id : 5038906682 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What will come in the place of question mark (?) in the given expression?

280 +14 x 15 +252 =72+ 20 percent of 125

Options :
1. % 25
2.9 30
3. % 35
4. % 40

Question Number : 42 Question Id : 5038906682 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fou T i H Uy g (2) & R IR &7 ST

280+ 14 x 15 +252=92+ 125 &7 20 wiaed



Options :
1. % 25
2.9 30
3. % 35
4, % 40

Question Number : 43 Question Id : 5038906683 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What value will come in place of question mark (?) in the following question?

—_—

v1024 4+ 7= 2 - of 70

=1 ] =

Options :
1. ¥ 148
2. % 156
3. % 128
4. % 138

Question Number : 43 Question Id : 5038906683 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fgferfad oy o us g (2) & R R 1 HE ST

—_—

V1024 + 7 = ?G%TE%

Options :
1. ¥ 148
2. % 156
3. % 128
4. % 138



Question Number : 44 Question Id : 5038906684 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many numbers between 200 and 1500 are divisible by both 3 and 7?
Options :

1. #* 60

2. % 64

3. ¥ 62

4. % 66

Question Number : 44 Question Id : 5038906684 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

200 3R 1500 & STa BT T fHaT T § S 3 3R 7 31 & fAuTsa 82
Options :

1. #® 60

2. % 64

3.¥ 62

4. % 66

Question Number : 45 Question Id : 5038906685 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which is the lowest four-digit number which when divided by 8, 12 and 15 leaves remainder 7?
Options :

1. ® 1067

2. %1037

3. % 1047

4.+ 1087

Question Number : 45 Question Id : 5038906685 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR P! B! T BT WA B A & o 8,12 3R 15 F YFT S W VG 7 U 812
Options :

1. # 1067

2. % 1037

3. % 1047

4.9 1087

Question Number : 46 Question Id : 5038906686 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The average price of 3 items of furniture is Rs. 1200. If their prices are in the ratio 4: 5 : 3, then what is the price of the cheapest item?
Options :

1. % 2000

2. % 1500

3. % 1800

4.+ 900

Question Number : 46 Question Id : 5038906686 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AR J07 & 3 TGSl DT 3 P 1200 T § | FS ITb! B! BT UM 4: 5:3 8, Al R T KT I B1 1A fba-t gt
Options :

1. % 2000

2. % 1500

3. % 1800

4.9 900

Question Number : 47 Question Id : 5038906687 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



600 gm of sugar solution has 45 percent sugar in it by weight. How much sugar must be added in the solution to make it 60 percent sugar
solution (by weight)?

Options :

1. % 225 gm

2. % 200 gm

3. % 250 gm

4. % 180 gm

Question Number : 47 Question Id : 5038906687 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A & 600 T O | YR & U H 45 Ufard A1 51 91t § R fosat D=1 firars SR fora o aier & =t &1 |1 60 Ufa=Td 81 S
(HR & U H)

Options :

1. % 225U1H

2. % 200 9UMH

3. % 250 UH

4. % 180 UH

Question Number : 48 Question Id : 5038906688 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The price of wheat reduced by 20 percent. If a family wants to keep their expenses on wheat the same as earlier, the family will have to increase
its consumption of wheat by.

Options :

1. # 16.66 percent
2. ¥ 25 percent

3. % 30 percent

4. % 20 percent

Question Number : 48 Question Id : 5038906688 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

ﬁ%ﬁﬁﬂﬁﬁzomﬁw&ﬂé%lﬁﬁéwmﬁmﬁﬁém 30T G G A8l &, Al URAR $I 718 &1 @ud dg M1
|

Options :

1. % 16.66 UfaId
2.+ 25 gfa=rd
3. % 30 gfa=rd
4. % 20 gfaerd

Question Number : 49 Question Id : 5038906689 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

An item is marked at Rs.1520 and 25 percent discount is given on its marked price. If 4 percent loss incurred on selling the item, then what is the
difference between marked price and cost price of the item?

Options :

1. ¥ Rs.332.5
2. % Rs.296.5
3. % Rs.304.5
4. ® Rs.368.5

Question Number : 49 Question Id : 5038906689 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP T | 1520 T 3Hfdh foran SI1a 8 3R 39 Sifohd Tod TR 25 Ua=Id &1 §e UG &1 il 5 | Afe a%g HI 99 S WX 4 Ufa=rd g1+
Bl g, Il I & 3ifohd Hed 3R Ha Jd & aid BT 3R o1 /2

Options :

1. ¢ 332,50

2. ¥ 296.5 FqY

3. % 304.5F0

4. % 368.5FQY




Question Number : 50 Question Id : 5038906690 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ratio of 45 percent of 80 percent of A to 30 percent of 40 percent of B is 15 : 4. If the average of A and B is 67.5, what is the value of A - B?
Options :

1. #® 12

2. %10

3.9 15

4. % 18

Question Number : 50 Question Id : 5038906690 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A & 80 UTIRIA BT 45 UFARI TUT B F 40 TAI=Td P 30 UTIRIT BT ST 15 : 4 81 A A 3R B &7 3Md 67.5 8, N A - B BT AF fha18?
Options :

1. % 12

2.% 10

3.¥ 15

4. % 18

Question Number : 51 Question Id : 5038906691 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two containers A and B contain mixture of Alcohal and water in the ratio of 3 : 2 and 9 : 11 respectively. If 12 liters of mixture from container A
and 24 liters of mixture from container B are mixed to form another mixture, then what will be the ratio of Alcohal and water in the resultant
mixture?

Options :
l.%2:3
2.% 21
3.91:1
4. % 1:2



Question Number : 51 Question Id : 5038906691 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&I S A 3R B T IRTF 3R T 67 T80T A= 3: 2 3R 9 11 & IUIA A 81 A I A H F 12 e frgor oiR 5 B H F 24 Tie”
forsror Ues 3 fRreror M & fore fiyemar o &, ot ufkomdt forsror & R1E 3R Uit &1 SuTd fardn grm?

Options :

1.%2:3

2.% 2:1
3. 1:1
4. % 1:2

Question Number : 52 Question Id : 5038906692 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The difference between compound interest and simple interest at 12 percent for 2 years on the same principal amount is Rs. 432. Find the
principal amount.

Options :

1. # Rs. 25000
2. % Rs. 40000
3. % Rs. 20000
4. ¥ Rs. 30000

Question Number : 52 Question Id : 5038906692 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP & AU W 12 Ufa=rd &1 X J 2 a8 7 4o foram ar Ihgfa Sare 3iR TRl 1S o offd 61 3faR 432 T 03 § | HAeH 1d He |
Options :

1. % 25000 Y

2. % 40000 &Y

3. % 20000 &YY

4. ¥ 30000 TUY



Question Number : 53 Question Id : 5038906693 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Speed of a bus and a car are in the ratio 2 : 5 respectively. Car covers a distance of 280 km in some time and bus covers a distance of 'd' km less
in same time. What is the distance covered by bus?

Options :

1. ¥ 112 km
2. % 168 km
3. % 144 km
4. % 132 km

Question Number : 53 Question Id : 5038906693 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH o9 3R TP BHR DI T BT AT HAL: 2 : 5 51 HR 280 T 1 g8 $8 THI & T0 it © 3R 99 '’ forft o7 g v g |
T P B, O T gRT I 1 TS g8 fobeit 32

Options :

1. ¢ 112 fpdt
2. % 168 fopdit
3. % 144 fou
4. % 132 forit

Question Number : 54 Question Id : 5038906694 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A motor boat can travel at 10 km/hr in still water. It travelled 91 km downstream in a river a then returned taking altogether 20 hours. Find the
rate of flow of the river.

Options :

1. % 3 km/hr
2. # 5km/hr
3. # 6 kin/hr
4. #® 8 km/hr



Question Number : 54 Question Id : 5038906694 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T HIcx SIC 38 gU U B 10 fofl/eer &1 1fa & o o Fabvdl 8| 597 U 441 H 91 et 3ryare o1 3R I &t 3R a0y 39! ®IF
TR TS 39 o U1 H I 20 U BT GHY A A P YaTe 1 i [1d I

Options :

1. ¢ 3 fopHi/eer
2. % 5 fpHi/eeT
3. % 6 fopHil/eeT
4. % g fopdi/eer

Question Number : 55 Question Id : 5038906695 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

20 men can do a work in 15 days while 10 women can do the same work in 20 days. In how many days, will 18 men and 18 women do the same
work?

Options :

14
i days
1. ®

16
— days
2. %

20
— days
3. ¢

4 w 5 days

Question Number : 55 Question Id : 5038906695 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
20 T3Y TH HTH I R B A 15 {37 T § Sdfh 10 ARG Tat HH B3+ H 20 foT Tt 81 18 T2 3R 18 AR 98! &1/ & A
e ot e

Options :

=Rt

1. % 3

=

2% 3

Question Number : 56 Question Id : 5038906696 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The area of a rectangle increases by 7 sq. units when its breadth alone is increased by 1 unit. Its area increases by 5 sq. unit when its length alone
is increased by 1 unit. Find the perimeter of the original rectangle.

Options :

1. # 17 units
2. * 36 units
3. # 18 units
4. % 24 units

Question Number : 56 Question Id : 5038906696 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T ATId BT &TH 7 I 3H13T! GRT TG & O bl TSTS 1 SHIS 9¢ STl & | SHHT &FBd 5 T 3hTs I dgdl g, ofd 3TD! daTs
3D | IPIs §¢ OId! ¢ | Jd T o1 aRRfer o g2




Options :

. % 173PT%
2. % 36 3PS
3. % |3SHIS
4. ¥ 24 3T

Question Number : 57 Question Id : 5038906697 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the diameter (in cm) of a sphere of surface area 24.64 sq cm?
Options :

1.% 1.4

2. % 35

3.4 28

4. % 24

Question Number : 57 Question Id : 5038906697 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

24.64 T Y. Y &7 aTal Mdl &1 o (.. T) Far 82
Options :

l.* 14

2. %35

3.¥238

4. % 24

Question Number : 58 Question Id : 5038906698 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The following table indicates language- wise internet users in India over the years (in million)



Language 2013 2014 2015 2016
Hindi 201 275 305 369
English 306 281 328 335
Bengali 32 43 52 43
Kannada 110 112 123 115
Telugu 51 39 42 88

What is the average number of Kannada internet users over the years?
Options :

1. # 120 million

2. % 115 million

3. % 110 million

4. % 125 million

Question Number : 58 Question Id : 5038906698 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafaa arfereT fou e auf # (@feraa #) 4R § HIV-aR Sexqe IuanThdiel & 3iids sAId Bl 8|

ST 2013 2014 2015 2016
Bar 201 275 305 369
3T 306 281 328 335
EEIE] 32 43 59 43
Foels 110 112 123 115
el 51 39 42 88
faQ 7T auf H Hog IS Sex-e STANTHAiS] ! 3d I3 fha- g2
Options :
1. % 120 faferaa
2. ¢ 115 faferga

3. % 110 fAferT



4. % 125 fofergs

Question Number : 59 Question Id : 5038906699 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The following table indicates language- wise internet users in India over the years (in million)

Language 2013 2014 2015 2016
Hindi 201 275 305 369
English 306 281 328 335
Bengali 32 43 52 43
Kannada 110 112 123 115
Telugu 51 39 42 88

What is the ratio of total internet users in 2016 to 2015 combining all language together?
Options :

1.¥19:17

2.%17:19

3.%9:10

4.%10:9

Question Number : 59 Question Id : 5038906699 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad arfie! Ued o aul & (e ¥) YR T WIWT-aR gex-e SUaNTGHArsil & sfids 3fTd &l g




ST 2013 2014 2015 2016
fgar 201 275 305 369
i3ttt 306 281 328 335
EElI] 32 43 52 43
Fods 110 112 123 115
el 51 39 42 88

Tt Sexre SUATTEArSl & UTITSH &1 Tgad U 9 3@ IR T 2016 3R T8 2015 H $o S STARTHANSN BT ST fbaT 82
Options :

1.¥19:17

2. % 17:19

3.%9:10

4.%10:9

Question Number : 60 Question Id : 5038906700 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The graph given below shows the number of watches (Wrist watches + Wall watches) sold in different months of a year by a Watch shop.

Number of Watches sold in different months
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——MNumber of Wrist watches sold ——MNumber of Wall watches

Find the average of number of Wrist watches sold in the given months by the shop.
Options :

1. % 89

2.9 99

3. % 97

4. % 93

Question Number : 60 Question Id : 5038906700 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I & 7S TFER & SMYR R Ui & SR S
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Options :
1. % 89
2.¥ 99
3. % 97
4. % 93
General English
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Group Id : 503890156
Group Maximum Duration : 0
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Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 5038906701 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, four sentences are given out of which three sentences are grammatically incorrect while one is correct. Find out which
sentence is grammatically correct and select the appropriate option.

Options :

1. ¥ The Archbishop sought education and knowledge with unwavering zeal.

2. # In his early years, he accidentally stumbled with school in Mwala, Masaku.

3. % Afterwards, he travell abroad for his BA degree in political science and history.

4. % He also treated its parishioners with utmost respect.

Question Number : 61 Question Id : 5038906701 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, four sentences are given out of which three sentences are grammatically incorrect while one is correct. Find out which
sentence is grammatically correct and select the appropriate option.

Options :

1. ¥ The Archbishop sought education and knowledge with unwavering zeal.



2. # In his early years, he accidentally stumbled with school in Mwala, Masaku.
3. % Afterwards, he travell abroad for his BA degree in political science and history.

4. ¥ He also treated its parishioners with utmost respect.

Question Number : 62 Question Id : 5038906702 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the segment in the sentence which contains the grammatical error from the given options.

Wherever they go Indians easily adapt to the local circumstances.
Options :

1. ¥ Wherever they go

2. % Indians easily

3. ¥ adapt to

4. % the local circumstances

Question Number : 62 Question Id : 5038906702 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the segment in the sentence which contains the grammatical error from the given options.

Wherever they go Indians easily adapt to the local circumstances.
Options :

1. ¥ Wherever they go

2. % Indians easily

3. % adapt to

4. % the local circumstances

Question Number : 63 Question Id : 5038906703 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select No
substitution required.



Ishant, though jet-lagged and sleep-deprived, not played the entire 1st Test also was India’s most potent bowler picking five wickets for 68 runs
in the first innings, looking so sharp as he had been before getting injured.

Options :

1. # not only, and also, as, as
2. ¥ not only, but also, as, as
3. % not only, but also, so, as

4. # No substitution required

Question Number : 63 Question Id : 5038906703 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select No
substitution required.

Ishant, though jet-lagged and sleep-deprived, not played the entire 1st Test also was India’s most potent bowler picking five wickets for 68 runs
in the first innings, looking so sharp as he had been before getting injured.

Options :

1. # not only, and also, as, as
2. ¥ not only, but also, as, as
3. % not only, but also, so, as

4. # No substitution required

Question Number : 64 Question Id : 5038906704 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select No
substitution required.

US President Donald Trump declared that his country would be always faithful and loyal to Indians, and enthusiastically embraced the entire
gamut of India-US ties.

Options :
1. #* would be always, enthusiastic

2. # would always, enthusiasm



3. % would always be, enthusiastically

4. # No substitution required

Question Number : 64 Question Id : 5038906704 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select No
substitution required.

US President Donald Trump declared that his country would be always faithful and loyal to Indians, and enthusiastically embraced the entire
gamut of India-US ties.

Options :

1. # would be always, enthusiastic

2. # would always, enthusiasm

3. ¥ would always be, enthusiastically

4. # No substitution required

Question Number : 65 Question Id : 5038906705 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

He is one of rare individuals whose wealth and success no one begrudges.
Options :

1. ¥ those

2. # these

3. % this

4. # that

Question Number : 65 Question Id : 5038906705 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.



He is one of rare individuals whose wealth and success no one begrudges.
Options :

1. ¥ those

2. # these

3. % this

4. % that

Question Number : 66 Question Id : 5038906706 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

The Indian auto industry was left completely after the Covid crisis hit the nation.
Options :

1. # organized

2. ¥ topsy-turvy

3. # classified

4. % wondered

Question Number : 66 Question Id : 5038906706 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

The Indian auto industry was left completely after the Covid crisis hit the nation.
Options :

1. #* organized

2. ¥ topsy-turvy

3. % classified

4. % wondered

Question Number : 67 Question Id : 5038906707 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Rearrange the following sentences in correct order to form a meaningful paragraph.

p: One year after the launch of the government scheme while expectations
Q: the scheme has hardly reached to those who need it most
R: have been increasing about its reach

Options :
1. * PQR
2. ¥ PRQ
3. % RQP
4. % RPQ

Question Number : 67 Question Id : 5038906707 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the following sentences in correct order to form a meaningful paragraph.

p: One year after the launch of the government scheme while expectations
Q: the scheme has hardly reached to those who need it most
R: have been increasing about its reach

Options :
1. * PQR
2. ¥ PRQ
3. % RQP
4. % RPQ

Question Number : 68 Question Id : 5038906708 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rearrange the following sentences to form a meaningful paragraph.

A: But the rubble was too heavy and I could not move. I started yelling for help.

B: I tried to move the rubble so I can come out and search for my family.

C: It then occurred to me that [ was trapped under the debris of my house due to the earthquake that stuck late night.



D: I realized that [ was trapped under the rubble.
E: It was just the beginning of dawn when I regained consciousness.

Options :

1. # ABCDE
2. ¥ EDCBA
3. % ABCED
4. ¥ EBDCA

Question Number : 68 Question Id : 5038906708 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rearrange the following sentences to form a meaningful paragraph.

A: But the rubble was too heavy and I could not move. I started yelling for help.

B: I tried to move the rubble so I can come out and search for my family.

C: It then occurred to me that [ was trapped under the debris of my house due to the earthquake that stuck late night.
D: I realized that [ was trapped under the rubble.

E: It was just the beginning of dawn when I regained consciousness.

Options :

1. # ABCDE
2. ¥ EDCBA
3. % ABCED
4. ¥ EBDCA

Question Number : 69 Question Id : 5038906709 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.

CANTANKEROUS
Options :

1. ¥ Quarrelsome

2. # Rash

3. % Disrespectful

4. # Obese



Question Number : 69 Question Id : 5038906709 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.

CANTANKEROUS
Options :

1. ¥ Quarrelsome
2. # Rash

3. % Disrespectful
4. # Obese

Question Number : 70 Question Id : 5038906710 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym of the given word.

COMPREHENSIVE
Options :

1. # Inadequate

2. % Indifferent

3. % Superficial

4. # Compressive

Question Number : 70 Question Id : 5038906710 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym of the given word.

COMPREHENSIVE
Options :

1. # Inadequate



2. % Indifferent
3. % Superficial

4. # Compressive

Question Number : 71 Question Id : 5038906711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correctly spelt word.

Options :

1. # Sqaundered

2. # Squendered

3. % Squandered

4. # Sqeundered

Question Number : 71 Question Id : 5038906711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correctly spelt word.

Options :

1. # Sgaundered

2. ®% Squendered

3. % Squandered

4. % Sqeundered

Question Number : 72 Question Id : 5038906712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the wrongly spelt word.

Options :

1. ¥ Familar

2. #% Grammar

3. % QGrandeur



4. % Grievous

Question Number : 72 Question Id : 5038906712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the wrongly spelt word.

Options :

1. ¥ Familar

2. # Grammar

3. % Grandeur

4. % Grievous

Question Number : 73 Question Id : 5038906713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom/ phrase.

Skating on thin ice

Options :

1. #* If you make another mistake, there will be trouble
2. # To argue the opposite, just for the sake of argument
3. # An event that happens infrequently

4. % To be in a situation that can get quite dangerous or risky

Question Number : 73 Question Id : 5038906713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom/ phrase.

Skating on thin ice
Options :



1. #® If you make another mistake, there will be trouble
2. ® To argue the opposite, just for the sake of argument
3. # An event that happens infrequently

4. ¥ To be in a situation that can get quite dangerous or risky

Question Number : 74 Question Id : 5038906714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom/ phrase.

To have second thoughts
Options :

1. # To change a decision
2. # To plan carefully

3. # To take someone

4. % To reconsider

Question Number : 74 Question Id : 5038906714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom/ phrase.

To have second thoughts
Options :

1. ® To change a decision
2. % To plan carefully

3. % To take someone

4. % To reconsider

Question Number : 75 Question Id : 5038906715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.



One for whom money is the most important thing
Options :

1. % Martyr

2. % Masochism

3. ¥ Materialistic

4. ® Matinee

Question Number : 75 Question Id : 5038906715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

One for whom money is the most important thing
Options :

1. % Martyr

2. % Masochism

3. ¥ Materialistic

4. ® Matinee

Sub-Section Number : 2
Sub-Section Id : 503890313
Question Shuffling Allowed : Yes

Question Id : 5038906716 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (76 to 80)

Read the following passage and answer the questions below.

Rabindranath Tagore, born May 7, 1861, Calcutta [now Kolkata], India—died August 7, 1941, Calcutta), was a Bengali poet, short-story writer,
song composer, playwright, essayist, and painter who introduced new prose and verse forms and the use of colloquial language into Bengali
literature, thereby freeing it from traditional models based on classical Sanskrit. He was highly influential in introducing Indian culture to the
West and vice versa, and he is generally regarded as the outstanding creative artist of early 20th-century India. In 1913 he became the first non-
European to receive the Nobel Prize for Literature.



The son of the religious reformer Debendranath Tagore, he early began to write verses, and, after incomplete studies in England in the late 1870s,
he returned to India. There he published several books of poetry in the 1880s and completed Manasi (1890), a collection that marks the maturing
of his genius. It contains some of his best-known poems, including many in verse forms new to Bengali, as well as some social and political
satire that was critical of his fellow Bengalis.

In 1891 Tagore went to East Bengal (now in Bangladesh) to manage his family’s estates at Shilaidah and Shazadpur for 10 years. There he often
stayed in a houseboat on the Padma River (the main channel of the Ganges River), in close contact with village folk, and his sympathy for them
became the keynote of much of his later writing. Tagore came to love the Bengali countryside, most of all the Padma River, an often-repeated
image in his verse. During these years he published several poetry collections, notably Sonar Tari (1894; The Golden Boat), and plays, notably
Chitrangada (1892; Chitra).

Sub questions

Question Number : 76 Question Id : 5038906717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As per passage, in which year did Rabindranath Tagore receive the Nobel prize?
Options :

1. % 1941

2. % 1919

3. % 1903

4.9 1913

Question Number : 77 Question Id : 5038906718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the given passage “Manasi” is a collection of-
Options :

1. # plays

2. * essays

3. % poems

4. * paintings

Question Number : 78 Question Id : 5038906719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Why did Rabindranath Tagore go to East Bengal for 10 years in 1891?
Options :

1. # to enjoy the natural beauty of East Bengal so that he could write
2. ¥ to manage his family’s estates at Shilaidah and Shazadpur

3. # to spend some time with people of East Bengal

4. ® to learn painting from a famous painter of East Bengal

Question Number : 79 Question Id : 5038906720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following best expresses the opposite meaning to the given word “colloquial”?
Options :

1. ® informal

2. % vernacular

3. ¢ literary

4. ® demotic

Question Number : 80 Question Id : 5038906721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is incorrect according to the given passage?

Options :

1. # There Rabindranath often stayed in a houseboat on the Padma River in close contact with village folk.
2. ¥ Debendranath published poetry collections, Sonar Tari in1894 and plays, Chitrangada in 1892; Chitra.
3. # Rabindranath completed Manasi (1890), a collection that marks the maturing of his genius.

4. ® Rabindranath was a Bengali poet, playwright, essayist, and painter who introduced new prose and verse.

Question Id : 5038906716 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (76 to 80)

Read the following passage and answer the questions below.

Rabindranath Tagore, born May 7, 1861, Calcutta [now Kolkata], India—died August 7, 1941, Calcutta), was a Bengali poet, short-story writer,



song composer, playwright, essayist, and painter who introduced new prose and verse forms and the use of colloquial language into Bengali
literature, thereby freeing it from traditional models based on classical Sanskrit. He was highly influential in introducing Indian culture to the
West and vice versa, and he is generally regarded as the outstanding creative artist of early 20th-century India. In 1913 he became the first non-
European to receive the Nobel Prize for Literature.

The son of the religious reformer Debendranath Tagore, he early began to write verses, and, after incomplete studies in England in the late 1870s,
he returned to India. There he published several books of poetry in the 1880s and completed Manasi (1890), a collection that marks the maturing
of his genius. It contains some of his best-known poems, including many in verse forms new to Bengali, as well as some social and political
satire that was critical of his fellow Bengalis.

In 1891 Tagore went to East Bengal (now in Bangladesh) to manage his family’s estates at Shilaidah and Shazadpur for 10 years. There he often
stayed in a houseboat on the Padma River (the main channel of the Ganges River), in close contact with village folk, and his sympathy for them
became the keynote of much of his later writing. Tagore came to love the Bengali countryside, most of all the Padma River, an often-repeated
image in his verse. During these years he published several poetry collections, notably Sonar Tari (1894; The Golden Boat), and plays, notably
Chitrangada (1892; Chitra).

Sub questions

Question Number : 76 Question Id : 5038906717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As per passage, in which year did Rabindranath Tagore receive the Nobel prize?
Options :

1. % 1941

2. % 1919

3. % 1903

4.4 1913

Question Number : 77 Question Id : 5038906718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the given passage “Manasi” is a collection of-
Options :

1. * plays

2. * essays

3. ¥ poems

4. * paintings



Question Number : 78 Question Id : 5038906719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Why did Rabindranath Tagore go to East Bengal for 10 years in 1891?
Options :

1. # to enjoy the natural beauty of East Bengal so that he could write
2. ¥ to manage his family’s estates at Shilaidah and Shazadpur

3. # to spend some time with people of East Bengal

4. ® to learn painting from a famous painter of East Bengal

Question Number : 79 Question Id : 5038906720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following best expresses the opposite meaning to the given word “colloquial”?
Options :

1. ® informal

2. % vernacular

3. ¢ literary

4. ® demotic

Question Number : 80 Question Id : 5038906721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is incorrect according to the given passage?

Options :

1. # There Rabindranath often stayed in a houseboat on the Padma River in close contact with village folk.
2. ¥ Debendranath published poetry collections, Sonar Tari in1894 and plays, Chitrangada in 1892; Chitra.
3. # Rabindranath completed Manasi (1890), a collection that marks the maturing of his genius.

4. ® Rabindranath was a Bengali poet, playwright, essayist, and painter who introduced new prose and verse.
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Question Number : 81 Question Id : 5038906722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FAfRId o ¥ "TIeR" &1 96! i fawg SH-a1 g2
Options :

1. # YT + H-YDPR

2. ¥ Y + ARDR



3. % g9 + fUgpR
4. % Y9 + PR

Question Number : 81 Question Id : 5038906722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frfifed § § errieR &1 98 9 fawse eH-a1 82
Options :

1. % YT + {RDPR

2. ¥ Yq + AYDhR

3. % g9 + [YFPR

4, % Y + AYDhR

Question Number : 82 Question Id : 5038906723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fArfeRad 4 @ dhad Usg &1 99 HIfSTL-
Options :

1. ¢ RIY

2. % ket

3. % Hdd

4. % g§d

Question Number : 82 Question Id : 5038906723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR § & dagd <Teq T 0 HIfSTT-
Options :

1. ¢ RIY

2. % et

3. ® HXdh




4. % gaA

Question Number : 83 Question Id : 5038906724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T & 9 ford <ree o U 781 82
Options :

1. # 3AUdd

2. % fidrae

3. ¢ R

4. % forarg

Question Number : 83 Question Id : 5038906724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFrefeied ® 9 ford wrea & yer 181 &2
Options :

1. ® 3AUdd

2. # firefrae

3. ¢ R

4. % foramg

Question Number : 84 Question Id : 5038906725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ARG & @ -9 WMo Soadrad U371 $1 3aT6R0l ol 62
Options :

1. % gHI

2. % 3

3. % Qg

4.9 0H




Question Number : 84 Question Id : 5038906725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFeffead & 9 -1 Wea goqdTad 3 BT a6l T8 67
Options :

1. % M

2. % 3

3. % gl

4.9 UH

Question Number : 85 Question Id : 5038906726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFrefafed & 3 S1-91 ea "awdR &1 ugfaar 781 82
Options :

1. % o=

2. % P

3. ¥ JHql

4. % gfdfaes

Question Number : 85 Question Id : 5038906726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e & 9 S1F-91 Teg "ddR" &1 uaigare T8 82
Options :

1. % fo

2. % MMPHfd

3. ¥ JHal

4. % yfdafers



Question Number : 86 Question Id : 5038906727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFrEfeRad & 9 <1eq & Y& TU(GdH) DT T DITOTL-
Options :

1. ¢ gRI

2. ¥ GRBIY

3. % R

4. % GRHIUY

Question Number : 86 Question Id : 5038906727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f=fRed o ¥ 2re & Y& T (@A) BT 98 Piford-
Options :

1. ¢ gRBI

2. % GRBIY

3. % g1

4. % GRBIYY

Question Number : 87 Question Id : 5038906728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFffEd & 9 rsfrarg-T o1 faei Treg $IH-91 52
Options :

1. % 3THAT

2. ¢ fageiq

3. ®# 1[gR

4. % UhRAl

Question Number : 87 Question Id : 5038906728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

feferfad # 9 3iaTe &1 faehH Tsg HIH-T1 82
Options :

1. ® 3THAT

2. ¢ fagoiH

3. % TER

4. % GHRAT

Question Number : 88 Question Id : 5038906729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i o 9 2reg-gm & Tal 31f-0G &1 99 Bifoie-
STIUTR- 31U

Options :

1. ¢ YIS - T 3dDR
2. % W1 g3l UM
3. % 3{UR - TR9

4, ® Jh - 3SHI

Question Number : 88 Question Id : 5038906729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFffEd & @ Wea-gm & gl 31d-Hg BT 99 Bifor-

SIFUIRT-S{ U
Options :

1. ¢ UISH - T 3dR
2. % W1 gafl- U
3. % 3R - TR

4, % FDHR - ST



Question Number : 89 Question Id : 5038906730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f=fRed o § F-91 a1 3 Ya&hTd BT 3aIex0 82
Options :

1. ¢ g arad fefl-onft a8t em g

2. % YR &l IR 7 Ice $HY oid gl g |

3. % YRA B I IS et g |

4. % 3T TS A H 31 S|

Question Number : 89 Question Id : 5038906730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f=frRad § ¥ SH-91 a1 S YdhTd BT 3aTeR0T 82
Options :

1. ¢ g arae faft-onft gt ema g

2. % YRA 3 §R IS I68 HY oiid gHhl |

3. % YR B AT Iy el 21

4. % 3O FATN @l H 3T S|

Question Number : 90 Question Id : 5038906731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAEfaRad A T Uhae Wsg &1 II Hifole-
Options :

1. ® g

2. ¥ Uhdl

3. % AqGHI

4. % 3TN




Question Number : 90 Question Id : 5038906731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAEfaRed A T Uhae Wsg BT I Hifole-
Options :

1. % g

2. ¢ Uhdl

3. % gD

4, % IR

Question Number : 91 Question Id : 5038906732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

12 fau Tt g &) faren & ufkafda &3, g8t fRsared &1 9 Sifor-
S 3 HHAR] B a1 IR Ueg ¢

Options :

1. % g 39 HHAR Bt BT IR g ol 5

2. % T 3 HHARII B ST IR UGB 5

3. ¢ g UeE § [P 98 FHaR] Haaafss g

4. % 9g HHAR] § YT Y I -] R e ¢

Question Number : 91 Question Id : 5038906732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I feu e are &1 fargraren # uRafdd &R, I8! fiyares &1 9= pifoe-
TS 39 HHAR! B! Bl IR Heg ¢

Options :

1. % g I HHIR) B! ST IR Tg Tl B
2. % T I HHARII B BT IR UE 5
3. ¢ T2 g § [ 98 ol Sdaiss g




4. ® 98 HHAR] g IUTCY HY 3] HAAS R T8 8

Question Number : 92 Question Id : 5038906733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fefefed @ s a1 1 T BifoTe-
Options :

1. % U8 B 3P WG & 3IHd g

2. % MUY fHAHR S T—Ta1 g8 |

3. % fRreep 3 BT A Fel fs YR BRI SR B
4. ¢ 30 39 B P TR HR bl ¢ |

Question Number : 92 Question Id : 5038906733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
feEfeRad # § 3rg aTer’ 1 =g HfoiL-
Options :

1. % I8 B Y WGHG & TP 5|

2. % MUY fHAHR S/ Ue—Ta1 g |

3. % &b 1 BE A $eT b HRA SART GV B
4. 319 3 ST B TRAATYU IR ThdT & |

Question Number : 93 Question Id : 5038906734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

=R o & HemarT '<Id U U T &1 ot 31 g2
Options :

1. % Qd BT DAl

2. % gAlIed 8T

3. ¢ g4 991 g

4. % {37 b




Question Number : 93 Question Id : 5038906734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ffrRad & T GerarT "Sd ¥d Uh g1 &1 o1 31 g2
Options :

1. % gd He-Td BT

2. % galcdlgd gl

3. ¢ gd aui gHI|

4. % {3 gh Tl

Question Number : 94 Question Id : 5038906735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f=fafad § O fog Aeifad o1 o et axg frd T8 st arreit 82
Options :

1. % 3t U St @ |

2. ¢ U Ggl B! WeT S Hedl |

3. % 3N &I SNUST ol (bl II a1 |

4. % g W gl gl

Question Number : 94 Question Id : 5038906735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rr=TRirE & & R ala e o1 ofel "o o by et areefl el 2
Options :

1. % 3¢ U pea @A |

2. ¥ 30 T8 DI WeT HH Heal o |

3. % 3T TId FUST ol Hdbd I AT |

4. % 3Gl Y &Y T greil |




Question Number : 95 Question Id : 5038906736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I feu e areu & =1 | A forg feg o1 v =16t fopan g
AR T a1 A 31 g1 wel & "dR-IR $o 781 feran, R Ad e 8

Options :

1. % I fag

2. % 3feUfarH forg
3. % O fog

4. g’ g

Question Number : 95 Question Id : 5038906736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

= few e are | = § @ fw fas &1 v T8t fear man g
IR TS YT 3 B1b &) a1 & "IR-IR F& 781 freran, Rrdh wi fiyaht 3

Options :

1. % IR0 g

2. % 3fcufaR™ g

3. % gl fag

4. ¢ gl fog

Sub-Section Number : 2

Sub-Section Id : 503890315
Question Shuffling Allowed : Yes

Question Id : 5038906737 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (96 to 100)

f=foRad T &1 seaYde S1enae R U & IR aford-
IR aTgd a1, Hiaxt et g1 a8 Hiar 9 aferdr g1 78 ok T SiemT o 4 9d g | 46 A8 &1 Afddbdl &1 IR o ST g | 98



G 3R IS HIGR & $© U ATUGUS TR Bl § ol 58 Iod IR ¢ I | T B TR’ Y Uiy I8 IR 31 A I=d DR Y
THd 5| 3P 1T ST IR SARIET BT AT & | YD &M §H ST ol Gll | I8 YII-AH of ocfl o | Ao 3R FHell bl
&1 RIeT e Hiftrd o faa1 31 §HRT 31 a7 81 T 8 | dgnfedt &1 31 g famavunaTes sieqae| 59 dR1-Bret 7 Urfed g1y &
qSdl g, 7 &al, 7 4H | g9 URFY IR 8 Jahe 1A Y6d 8 | 3P Hdl I8 © fob 31Tal & FRférd sy Hiar § sif¥iféa 81 39 Hiav ue &re1
I § O 39 TSR Hodl Igdl & 3R ST 3§ Bl SHUTI g & |

Sub questions

Question Number : 96 Question Id : 5038906738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SUYad eI & 3R, 3Ny Rren g9 sad ¥ dfd T ], wiife a8
Options :

1. ¢ fova} &Y gee-AE <t ]

2. % Had Wifasw fawdl &1 I BRI 5|

3. % &9 Al [Iudl BT 14 P 5

4. % Haq el ATl BT JH B |

Question Number : 97 Question Id : 5038906739 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FEfRed & ¥ SR § H-91 SU™AT g2
Options :

1. % 3

2. % 3

3. % XA

4.9 3]

Question Number : 98 Question Id : 5038906740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST TR & SR, YD RIfed a0 1 <38 BT I BT GBI HRUT S| gl

Options :




1. ® 3 ffera g

2. ¢ 3R Y AT BT

3. % QIR Afad &1 SaRYRIHT I T B (R118rd gl
4. % FIER g R 1 FReR g1

Question Number : 99 Question Id : 5038906741 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S{a TR & AR &1 g0 e g Tt & fear 31
Options :

1. ¥ g SR el

2. % g

3. % ddl

4, % IR

Question Number : 100 Question Id : 5038906742 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST TN & TR PIH-91 HY Tel el 82
Options :

1. % 3MYFIeh & gH Sffeed 8l adl |

2. % YT e -9 & St B

3. ¢ IR Wiad 7181, ST o g

4. % e 3R HA1 B §HA [R1ed db AT PR &A1 3|

Question Id : 5038906737 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (96 to 100)

TR I BT AT YD HE HR U=AT & IR alford-

IR a1 a1, Hiaxt fFaranr g1 a8 HiaR 9 dferdr ¢ | I8 ok I SieFT o 4 9Rd § | 46 T8 Bl Afddhdl &1 3R o ST g | 98
AT 3R YIS AR & $S T HUGUS TRdd BT & Sl 81 3o YR ¢ 9o | T B TR F T T W & T I bR 9




Thd g1 39 T ST 3R Srufkurgt 811 3iawaes § | 3nyfies e g8 SiicAa el it | 98 Ja1-AH &) 3t ¥ | Fifecd 3R el b
gH Ry ao Hfid o1 four 81 SURT 31+ a1 81 T 8 | axdar &1 31 8 faRavumdss sieqa | 59 IRI- It - Iifed g1Y |
USdl g, 7 dal, 7 4 | g0 IR IR g IadhR I X84 & | 3D B T8 ¢ b 311t o1 Ruferd A iR T sififérd 81 3 Hiar ua 51
IR B S I SRISR Hoxdl 8T § 3R ST 38 Bl IHaraiedi gl

Sub questions

Question Number : 96 Question Id : 5038906738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SUad TR & SR, MY e g Sieaa ¥ dfad Y&l 8, Fifd a8

Options :

1. ¢ foual &t ger-aE <t g |

2. % Had Hifad fawal &1 I Fdl g |
3. % $Had e fawdl &1 M BRI |
4. % Had HAl [N BT B 5 |

Question Number : 97 Question Id : 5038906739 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ffRed & 9 SR § -1 SUwRf 82
Options :

1. % 34

2. % 3

3. % XA

4.9 3

Question Number : 98 Question Id : 5038906740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST TR & TR, YD e 778 1«38 DI I BT T HRUT IADI gl

Options :



1. % 3ex J ffera g

2. ¢ 3R Y MR BT

3. % QIR Afdd &I SaRYId] F Ahd DR Rferd gl
4. % greR g W it FReR g

Question Number : 99 Question Id : 5038906741 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U TN B SFTER P! gA Ried de Afed = fear g
Options :

1. ¥ g SR el

2. % Fifg

3. % Pl

4, % IR

Question Number : 100 Question Id : 5038906742 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SUad TR & 3TIR HH-91 HUT Jel T8t 82
Options :

1. % MY & gH SiTeed 8l adl |

2. % 3MYMFH e Y196 gt <l g

3. ¢ 3R it 7161, 9T v g

4. % WIfed 3R Hal B gH R1ed db HIHd B &A1 3|

Disciplinel
Group Number : 6
Group Id : 503890158
Group Maximum Duration : 0

Group Minimum Duration : 0



Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Disciplinel

Section Id : 503890266

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 503890316

Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 5038906743 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The word 'Science' originates from:
Options :

1. # Scientai

2. % Scenti

3. % Scientia

4. *# Scientis

Question Number : 101 Question Id : 5038906743 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



g (fagm) @ S fPa T A gS 32
Options :

1. * Hgarg

2. % g&

3. ¢ rEfedn

4, % grefeg

Question Number : 102 Question Id : 5038906744 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Mark an incorrect match.

Options :

1. #® Archimedes : Principle of buoyancy; Principle of the lever

2. % James Clerk Maxwell: Electromagnetic theory; Light is an electromagnetic wave
3. ¥ W.K. Roentgen : Ultra short radio waves

4. % Christiaan Huygens : Wave theory of light

Question Number : 102 Question Id : 5038906744 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Terd fire &1 fafgd B

Options :

1. % SNBSS : Saadmal o1 HaH, Iiidd &1 Hag

2. % SR FAP Hedq: faggd 9aa 1 Rigid, UoTRI T [9ggd-gad i auil §
3. v S&Y, . o : 3faerg ST a

4. % 1T ST : U= &1 AT Rigid

Question Number : 103 Question Id : 5038906745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
One second is defined as the time required for a atom to undergo 9192631770 vibrations between two hyperfine levels of its




ground state.
Options :

1. % Cesium — 133
2. # Francium — 223
3. % Rubidium — 85
4. % Cadmium — 112

Question Number : 103 Question Id : 5038906745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

URATY] &1 301 Ha fRUfd & & 31y wri & e 9192631770 HHH HR & ol 31a=ads 9T & T Yobe & w0 d
aRuTia fear M gl

Options :

1. ¢ iforad - 133
2. % TpAREH - 223
3. % Tf9eH - 85
4. % HSHTH - 112

Question Number : 104 Question Id : 5038906746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the relative strength of strong nuclear force?
Options :

1.9 1

2. %10

3. %100

4. % 1000

Question Number : 104 Question Id : 5038906746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TSl ATHB I P1 SIS Feerdl T g2



Options :
1.¥ 1

2. %10
3. %100
4. % 1000

Question Number : 105 Question Id : 5038906747 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who introduced the concept of antiparticle?
Options :

1. ¥ Paul Dirac

2. # Carl Anderson

3. % Niels Bohr

4. # Tycho Brahe

Question Number : 105 Question Id : 5038906747 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Uleh U 1 HehedHT1 fora gfaaicd Hio
Options :

1. ¢ Uld &

2. % PIdl TS

3. % IR

4. % CHI ST

Question Number : 106 Question Id : 5038906748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is defined by Newton's first law of motion.
Options :



1. # Energy
2. * Work
3. ¥ Inertia

4. % Moment of Inertia

Question Number : 106 Question Id : 5038906748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AP madmmagd oy gargl
Options :

1. % 39

2. % B

3. ¥ Slgd

4. % TS 3o

Question Number : 107 Question Id : 5038906749 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following scientific principles does the working of optical fibres depend on?
Options :

1. #* Thin film optical interference

2. % Total internal reflection of light

3. # Reflection of ultrasonic waves

4. ¥ Photoelectric effect

Question Number : 107 Question Id : 5038906749 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TH1RIE ¥R (3HH WIZeR) Bt By FHufeiad & @ frg asnfe Rigid m Ak st 82

Options :

1. % TIfUheH UhTRI Afdeh Ul



2. ¥ UHTRI BT YU TdRD TRIac
3. % TRIYST Il Dl IR
4. % UHRI-faggd gHTd

Question Number : 108 Question Id : 5038906750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Mark the incorrect statement regarding Gravitational force.

Options :

1. # The gravitational force is the force of mutual attraction between any two objects by virtue of their masses
2. % Itis an universal force

3. ¥ Unlike electromagnetic force, the range of gravitational force is not infinite

4. % All objects on the earth, experience the force of gravity due to the earth.

Question Number : 108 Question Id : 5038906750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TE@HYU §d & Yot T A B Pl FIfgd B

Options :

1. % BTSN 9 farg! al fUUS] & S S GHHTH! & HRUI T aTell STHYT I §
2. % I U& A4S 9 §

3. ¢ faggd TSI §d & [qURId, TS@H Y0l §d B ST 3d T8 &

4. % Tg R It IGU 9t & HRUT @Byl §d BT SHIHT HRl ¢ |

Question Number : 109 Question Id : 5038906751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Mark the correct relation with respect to the strength of the forces, out of the following -
Options :

1. ¥ Electromagnetic force > Gravitational force

2. ® Electromagnetic force < Gravitational force



3. % Electromagnetic force = Gravitational force
4. # Can't be determined

Question Number : 109 Question Id : 5038906751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frafeifea 3 Soil @) a1d & Ty 3 a8 T8y 31 R Bt
Options :

1. ¢ T9ggd & 9 > TSATH Y §d

2. % fIggd NPT 99 < [S@IHY g

3. % fqgd TP IT §d = [eaIH Y g

4. % FYiRa = fovar o weban

Question Number : 110 Question Id : 5038906752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who had dismissed the possibility of tapping energy from atoms?
Options :

1. ¥ Rutherford

2. % Hahn

3. # Meitner

4. ® Tesla

Question Number : 110 Question Id : 5038906752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TRATST F Foll o Gl &1 GHTGT B! forem |k faea U2
Options :

1. ¥ IRBIS

2. % g

3. % HTR



4, ® oI

Question Number : 111 Question Id : 5038906753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following works was not performed by Albert Einstein?
Options :

1. # Static model of the universe which started modern cosmology
2. % Quantum statistics of a gas of massive bosons

3. # A critical analysis of the foundation of quantum mechanics

4. ¥ A new derivation of Planks law.

Question Number : 111 Question Id : 5038906753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed # 9 o o o1 eread Mt gRT 78! fovan ar U
Options :

1. % Sgiie &1 RR ared oA YA seiis faA &1 Yaird &1
2. % g3 UHM (IYRTd) R S &1 719 & SicH siids (@i
3. % HicH D! DI Id BT Th AgayU! [aRao

4. ¢ Wiid (99 & T AdI- i

Question Number : 112 Question Id : 5038906754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The electric force between two protons is times the gravitational force between them for any fixed distance.
Options :

1. % 103

2. 10%

3. % 1038

4. % 10%



Question Number : 112 Question Id : 5038906754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

et T3 gt & foQ <l UIeTH1 o s T dqyd 1 ITcb sitel Tl o eh Ul §e T T BT B
Options :

1. % 1034

2.9 10°0
3. % 1038
4, % 10%0

Question Number : 113 Question Id : 5038906755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The strong nuclear force is not applicable between -
Options :

1. # A proton and a proton

2. # A neutron and a neutron

3. % An electron and a proton

4. # A proton and a neutron

Question Number : 113 Question Id : 5038906755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fra & o9 yee AMABT g0 AN el 81T 82
Options :

1. % T Ui 3R U Ui

2. % Ueb Y 3R Teb YT

3. ¥ UH 3AaCH 3R U WieH

4. % TH U 3R U6 g



Question Number : 114 Question Id : 5038906756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The distances traversed, during equal intervals of time, by a body falling from rest, stand to one another in the same ratio as the odd numbers
beginning with unity [namely, 1: 3: 5: 7......].” This is known as law of odd numbers.

Options :

1. ¥ Galileo’s
2. % Bruno’s

3. # Newton’s
4. % Kepler’s

Question Number : 114 Question Id : 5038906756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foRmTaRT § FRAT g% forelt axq GRT 90 I8 SiaRTal § T 718 gRal U ga) o 34T 3uTd H gidl & ford 3fuTd § T I URY 8
aﬁﬁ'ﬁlﬂ%[\’r{ﬂhlﬁﬁﬁ ...... ] Isﬁ WWWWWWW%I

Options :

1. ¢ Tfafern

2. % g4l

3. % Ycd

4. % HER

Question Number : 115 Question Id : 5038906757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a scalar quantity?
Options :

1. # Total Linear Momentum

2. # Total angular momentum

3. ® Force

4. ¥ Energy



Question Number : 115 Question Id : 5038906757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ol & 3 o te i i g?
Options :
. A N
1. ® HARGDh T
2. ¥ Gl HIU ol
3. % dd
4. ¥ 3ol

Question Number : 116 Question Id : 5038906758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who correctly predicted in 1931 the existence of a new particle (now called neutrino) emitted in B-decay along with the electron?
Options :

1. # Werner Heisenberg

2. ¥ Wolfgang Pauli

3. ¥ Max Born

4. % Niels Bohr

Question Number : 116 Question Id : 5038906758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forem ay 1931 H gaae™ & A1y dier 5% & Ifold T 9dH w01 (R 3@ el dgd §) & i &1 Gal YaigH T 412

Options :
1. % R gTgoHaT

Question Number : 117 Question Id : 5038906759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
What is arcminute in radian?

Options :

1. % 391 x10*rad

2. % 0.91 x 10 rad

3. % 191 x 10 rad

4.9 291 x10* rad

Question Number : 117 Question Id : 5038906759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3T, Yfeaa § fpa gar g2
Options :

1. % 391 x 10%rad

2. % 0.91 x 10 rad

3. % 1.91 x 10* rad

4.9 291 x 10 rad

Question Number : 118 Question Id : 5038906760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A tower is observed from two opposite points on the ground. The angle subtended at the tower by the two directions of observation is 1°54"'.
Given the distance between the two points is about 1.276 m compute the distance of the tower from any of the point. (Use 360° = 2 rad)
Options :

1. % 3.84 X 10°m
2. 0.384 X 10’m
3. % 384X 10°m
4. % 384X 102m

Question Number : 118 Question Id : 5038906760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

ST R & faukid foigsil ¥ U erer <1 off 9ohdl ¢ | Uertl &t &l faRmsfl ¥ HHR IR SHI0 SUSHTS 10 54' g1 &l [4gaf & sd &1 gt e
1.276 Hiex g, faret +ft fig § eTaR &t g Y TUAT 11 (360° = 27 rad BT YA HY)

Options :

1. % 3.84 X 10°m
2. ¥ 0.384 X 10’m
3. % 384X 10°m
4. % 3.84%102m

Question Number : 119 Question Id : 5038906761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The molecular size of oleic acid is in the order of-
Options :

1. % 107m

2. % 108 m

3.4 10°m

4. % 1010m

Question Number : 119 Question Id : 5038906761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3z 3 BT 3MMUIfdDH MHR 5T HH A 82
Options :

1. % 10'm

2.% 108 m

3.¢ 10°m

4. % 10710y



Question Number : 120 Question Id : 5038906762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The kelvin, is the fraction of the thermodynamic temperature of the triple point of water.

Options :

1. ® 1/189.67
2. % 1/176.86
3. % 1/327.26
4. % 1/273.16

Question Number : 120 Question Id : 5038906762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

oId & Biep-fig & S FIfa® au & 3 YT P Bfedd FEd B
Options :
1. %® 1/189.67
2. % 1/176.86
3. % 1/327.26
4.+ 1/273.16
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Group Id : 503890159
Group Maximum Duration : 0
Group Minimum Duration : 0
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Edit Attended Group? : No
Break time : 0
Group Marks : 20

Is this Group for Examiner? : No



Discipline2

Section Id : 503890267
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 503890317
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 5038906763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ratio of the longest and shortest lengths of objects in our universe is about -
Options :

1. % 10%

2. % 1040

3.¢ 104

4, % 10%2

Question Number : 121 Question Id : 5038906763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SR FEE o Yo A 3R T BIC a3l T ST AT 5-

Options :

1. % 103
2. % 10%0



3.+ 10%!
4, % 1042

Question Number : 122 Question Id : 5038906764 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following events has the least time interval?
Options :

1. # Period of atomic vibration

2. ¥ Period of x-rays

3. # Period of light wave

4. % Period of radius wave

Question Number : 122 Question Id : 5038906764 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i & 9 g ge &1 99y 3idTd &4 82
Options :

1. % URATY HUA DI 3aie

2.« TR DI 3afY

3. % YR I Bl 37

4. % ST R DT Al

Question Number : 123 Question Id : 5038906765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Life span of most unstable particle is in the order of
Options :

1. ¥ 10°24S

2. % 10°2S

3. % 10228



4, % 1021s

Question Number : 123 Question Id : 5038906765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gaffie IR HUl BT Sfia- BT PIPCHT
Options :

1. ¥ 107243

2. % 10233

3. % 10223

4. % 10215

Question Number : 124 Question Id : 5038906766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The magnitude of the difference between the individual measurement and the true value of the quantity is called the error of the
measurement.

Options :

1. # Relative

2. # Percentage
3. % Least count
4. ¥ Absolute

Question Number : 124 Question Id : 5038906766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR AT 3R AT & R HTH o d1d & 3R & URHATI & HTY &l I FRIA@IBI
Options :

1. % Qe

2. % gfcRrd

3. ® 3qdHIb




4. ¢ RO

Question Number : 125 Question Id : 5038906767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The potential difference and current is given as (10+£0.5)V and (10+0.3)A for an electrical circuit. Find the percentage error in finding the
resistance.

Options :

1. # 2 percent
2. # 3 percent
3. % 7 percent
4. ¥ 8 percent

Question Number : 125 Question Id : 5038906767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faega uftay & forg favaiar SiR faggd URT (10+0.5)V 3R (10£0.3)A & =0 H & 7S B | feRiy 710 3 H Ffe wfawra 91d il
Options :

1. % 2 yfaerd

2. % 3 gfawrd

3. % 7 gfcRrd

4. ¢ g gfa=rd

Question Number : 126 Question Id : 5038906768 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Suppose the period of oscillation of a simple pendulum is 1.62 s, then the digit 2 is known as:
Options :

1. % certain

2. # reliable

3. ¥ uncertain

4. ® significant



Question Number : 126 Question Id : 5038906768 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A THTE U IR Al & ala $i 3ary 1.62 8, A1 3idh 2 Bl fbdd =0 & ST SfTl 87
Options :

1. % fAf3a

2. % oy

3. ¢ 3ffAfgd

4. % Tgaqul

Question Number : 127 Question Id : 5038906769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The dimensional formula of force is-
Options :

1. % [M°L T2

2. % [ML°T?

3. % [ML T

4. ¥ [MLT?

Question Number : 127 Question Id : 5038906769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
§d &1 farita 9 &-

Options :

1. % [MCL T2

2. % [ML°T?]

3. % [ML T

4.¢ ML T?



Question Number : 128 Question Id : 5038906770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following has no dimension?
Options :

1. # Density

2. ¥ Angle

3. # Kinetic energy

4. ¥ Mass density

Question Number : 128 Question Id : 5038906770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFofafed o 9 feas! oIS faw gl 82
Options :

1. ® Ydd

2. ¥ B

3. % A Bl

4. % gHq Yqd

Question Number : 129 Question Id : 5038906771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Dimensional analysis can be used to check the Dimensional of equations.

Options :

1. ¥ Consistency
2. % Inconsistency
3. % Validity

4. % Rigidity

Question Number : 129 Question Id : 5038906771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

faria fazaeor &1 Suhi e THiGu & fadty . ot o fear o ahan g
Options :

1. ¢ fRRar

2. % SRR

3. % fafermm=d

4. % Tedl

Question Number : 130 Question Id : 5038906772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Xo+Vet + at?

The dimensional formula of the given equation is:
Options :

1. % [MLT]

2.% [M°L T°]

3. % [M°L T?]

4. % M L2T?

Question Number : 130 Question Id : 5038906772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Xg+Vet + Zat®

f&u T iR &1 fada @ @
Options :

1. % [MLT]

2. ¥ [M°L T

3. % [M°L T?]

4. % M L2T?



Question Number : 131 Question Id : 5038906773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The position - time graph for an object moving with negative velocity is-
Options :

/|

X

L

L 4

1. # =

W

2. S

W



INC

W

Question Number : 131 Question Id : 5038906773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
BUTES 97§ A fHft axg & forg fufd-gwa 7w 5-

Options :

!

X

M

L

1. # o

W

2. ¢ b=



—
-
3. # t—>
A
! \/
.
-~
4. 8 E—>

Question Number : 132 Question Id : 5038906774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following shows zero acceleration?

Note: For this question, discrepancy is found in question/answer. So,this

question is 1gnored for all candidates.
Options :

1

X R

M

k' 4

1 O t—>



W

W

Question Number : 132 Question Id : 5038906774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraforiaa & § o9 9w I @Rur i 82
Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :




"<

k' 4

i
() E—
X
, & == "
M
T/
x
3 l—“}}
M
TK
X

Question Number : 133 Question Id : 5038906775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What does the following graph indicate?



-Vo

= s = o e o s o s o e W

Options :

1. ¥ Motion in positive direction with positive acceleration.
2. ¥ Motion in negative direction with negative acceleration.
3. #® Motion in positive direction with negative acceleration.

4. ® Motion of an object with negative acceleration that changes direction at anytime.

Question Number : 133 Question Id : 5038906775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i e o exriar g2



-Vo

= s = o e o s o s o e W

Options :

1. % ¢S @0 & 1Y Y-THD =M H 7|

2. ¢ FBUMHS &R0 b Ty BUTHS G- A fd |

3. % BUTHD 0T o 1Y YTHD (G201 A i |

4. % FUHD @RU] Tl a¥g B! TIfd, it forent Hft o fa=m 9ed <t g

Question Number : 134 Question Id : 5038906776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The advantage of the method of calculus for deriving the equations of motion for constant acceleration is that-
Options :

1. ¥ It can be used for motion with non-uniform acceleration also.

2. % It can be used for motion with instant acceleration also.

3. # It can be used for motion with linear acceleration also.

4. % Tt can be used for motion with effective acceleration also.

Question Number : 134 Question Id : 5038906776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fARER @R & forT 71t & HRUN DY Tt = & AT siaevet 710K o1 fafey o1 o I8 & fob-




Options :

1. ¢ 3BT ITANT A @01 & 1Y 7 & forg oft fovan s wewa 81
2. % ZYPHT IUUNT dTifOIs @RUT & 1 71 & forw +f fovar s awar g |
3. % BT IUUNT AP @RI & 1Y T & forw ot foran S gpar g

4. % 3BT IYINT YT @RUT & 1Y T1f & forg +ff fovan S g g |

Question Number : 135 Question Id : 5038906777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A body is thrown with a velocity of projection 49 ms! atan angle of projection 45°. Find the Range (g = 9.8 rns'z).
Options :

1. % 240 m

2.9 245m

3. % 250m

4. % 278 m

Question Number : 135 Question Id : 5038906777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TF fIS o1 45° & DI 49 ms~! & Y& AT T Trep] ST 8 | IR 1 BIY (g = 9.8 ms2)
Options :

1. % 240 1

2. 2451

3. % 250

4. % 278 71

Question Number : 136 Question Id : 5038906778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
It is the time a person takes to observe, think and act. It is-
Options :



1. # Response time
2. % Effective time
3. ¥ Reaction time

4. ¥ Reduction time

Question Number : 136 Question Id : 5038906778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g 98 THY ¢ O U oafe] bl S, Wi 3R 1 ) H a1 81 T8 8-
Options :

1. % yfcfehar 9ug (3fehar dre)

2. % JUT gHY

3. ¢ Ufdfsbar gy

4. % gAIH gAY

Question Number : 137 Question Id : 5038906779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What does the following graph indicate?

B
A
—rt } t —t I
I ] H —
Options :

1. ¥ Position-time graphs of two objects with equal velocities.
2. ® Position time graph of two objects with parallel velocity
3. % Position time graph of one object in different positions

4. ® Position time graph of one object with two different velocities



Question Number : 137 Question Id : 5038906779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferad ome Far <wifdr 82
B
A
-3 - 1 2 3 4 5 1)
Options :

1.  JHM 97 aTelt &l g &1 fRUfa-v9g us
2. % MR 971 9Tl &l a3t o1 fUf I9g 7
3. % faftrd fRUfal O v axg 1 fRufa ag ue
4. % ) O o7 910 U X T AT 9 U1

Question Number : 138 Question Id : 5038906780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The direction of null vector

Options :

1. #® Can be specified

2. % Cannot be specified

3. # Always east

4. ® Always west

Question Number : 138 Question Id : 5038906780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



T HiGR Bi fg=m .
Options :

1. # fAfdy frar ST gear g
2. ¢ ey 781 forar o Wt
3. % ¥edqd

4. % geg ufym

Question Number : 139 Question Id : 5038906781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is not a property of zero vector?
Options :

— =

| % A+0=A4 (For any vector A)

=)

) % al = (for any scalar o)

~0=0 (for any scalar [3)

<
T

4 % 0A=0 (for any vector A)

Question Number : 139 Question Id : 5038906781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e § & SH-91 3 afew &1 7o T8t 32

Options :

| x A+0=A fFar drefer 4 F oo
5 % a0 =0 s afeer o F o)



3 ¢ B ﬁ=ﬁ(ﬁﬂﬂrﬁ$ﬁ,’ﬂrﬁﬁ?ﬁm
4 » 04A=0 @ fraferdF oo

Question Number : 140 Question Id : 5038906782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The value of R in the above figure is-

Note: For this question, discrepancy 1s found in question/answer. So,this

question is 1gnored for all candidates.
Options :



Question Number : 140 Question Id : 5038906782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

Discipline3
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Group Id : 503890160
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Group Minimum Duration : 0
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Section Id : 503890268

Section Number : 1
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Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
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Sub-Section Id : 503890318

Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 5038906783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a property of unit vector?
Options :

1. ¥ It is present only in a particular axis

2. % It has no dimensions

3. # it is used to specify a direction only

4. # Its magnitude is unit



Question Number : 141 Question Id : 5038906783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FAfIRad & I DI 91 3PTs (G BT 07 161 87

Options :

1. ¥ T8 had U fa2y 31l H Aig ©

2. % B PIs AT ®

3. % 3P IGUNT Hhad U fe=n Sy oA & forg fpan s 8
4. % ZHHT UNHA SHRE §

Question Number : 142 Question Id : 5038906784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Let there be a vector A in a plane. Which of the following factors of A can't be specified?
Options :

1. # Its magnitude is |A|

2. ® The direction 0 it makes with the x Axis

3. # Its components A, and A,

4. ¥ Its position

Question Number : 142 Question Id : 5038906784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A Ao fo T Tvad # U I A B 1 A &1 Fgfoied § ¥ &9 W R Ry 78t forar 51 g&ar g2

Options :

1. % ZYHIYRHATUNA| §

2. % =10 TG x 3fef & Y T B
3. % 3P ICH A, AR A, B

4. ¢ 395 fRUfT

Question Number : 143 Question Id : 5038906785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Which one of the following is known as Law of cosines?

Options :
E=inf
Tana =
1. ® A+Bco=8
R A B

> % Sin® Sinp  Sina

3.« R=+A? + BZ—2ABcosb

BcosB

g A= e

Question Number : 143 Question Id : 5038906785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad & 3 f5a Siea & a9 & U § 1 911 82

Options :
Esing
Tanox =
A+Bcos=8
R A B

5 % Sin® "~ Sinf  Sina

3« R=+A? + B2 — 2ABcosb

Bcos8

g TANE= o b



Question Number : 144 Question Id : 5038906786 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who first stated the independency of the horizontal and the vertical component of projectile motion?
Options :

1. ¥ Galileo

2. % Newton

3. # Einstein

4. % Edwin Hubble

Question Number : 144 Question Id : 5038906786 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T TIfd & &S g SHeaieR Tl o W Upld BT Icaid qauyH fhee fmar
Options :

1. ¢ Trefifern

2. % Ycd

3. % JEEH

4. % USfo gad

Question Number : 145 Question Id : 5038906787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If a projectile is thrown with a velocity v that makes an angle 6, with the X axis, then equation of path of the projectile is-

Options :
. Y = (tanfy ) x— ——x2

1. @ vy cosf,

Y = (tanf,)x — ———x2

9 ® Zvgcosg,



Y =(tanf,) — ———x?

3 ® 2rpcosd,
= - —q -2
i Y =(tanf, )x z{uuccseujﬂl

Question Number : 145 Question Id : 5038906787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IS Th Y& B AT vy A BT STl § I X 31& b A1 BIVT 0, T &, ol U & G BT GHIH B-

Options :
. Y = (tanfy ) x— ——— x>

1. % vy cosf,

Y =(tanf,)x — ———x?2

y ® 2vgcosg,

= Tk —q -2
3 ® = (tﬂ_tl&u) 2rpcosd, 1

= - —q -2
i Y =(tanf, )x z{uuccseujﬂl

Question Number : 146 Question Id : 5038906788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What does "Centripetal" mean?

Options :

1. % Central

2. ¥ Center secking

3. % Around the center



4. ¥ Away from center

Question Number : 146 Question Id : 5038906788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
"3 BT 37 T 32

Options :

1. % Sl

2. ¥ DHg- 3y

3. % &g & U™

4. % &g & fagQ

Question Number : 147 Question Id : 5038906789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

For a particular radius of a circular path the relation between the frequency of revolution and the centripetal acceleration is-
Options :

1 % Qg oy

7 % A X 1fv
3.9 O XV

4 % Qg X 1/v?

Question Number : 147 Question Id : 5038906789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T% qOIHR UY B U A2 Fsar & fore ufkesyur ot smaft 3R ifier<ia @ruT & oig dde §-
Options :

1‘ F ﬂ,c oo




) % Q. X 1fv
3.,\./01,:&1!3

4 % Q< 1/v?

Question Number : 148 Question Id : 5038906790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who first gave the view that if a body is moving, something external is required to keep it moving?
Options :

1. ¥ Aristotle

2. # Democritus

3. % Kanada

4. % Copernicus

Question Number : 148 Question Id : 5038906790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I Ugd fham gg four four 3 afe o1 fis nfwm g O 39 nifowm T@ & fore it ame<t e & snaxgear gidl 82

Options :

1. ¥ 3R]
2. % SHifhey

3. % HIGl
4. % HRASBY

Question Number : 149 Question Id : 5038906791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In terms of acceleration, the state of rest and the state of uniform linear motion are-



Options :

1. % Opposite

2. # Contradictory
3. # Similar

4. ¥ Equivalent

Question Number : 149 Question Id : 5038906791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RO P TeH H, R o) 3w 3R ThrgHH IR T BT 3/ -
Options :

1. % faudia

2. % faRIUTHI

3. % =Y

4, & JHHE

Question Number : 150 Question Id : 5038906792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who concluded that the Milky way derived its luminosity because of a large number of stars not visible to the naked eye?
Options :

1. % Copernicus

2. ¥ QGalileo

3. # Aristotle

4. % Newton

Question Number : 150 Question Id : 5038906792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fram frep fRTaT o5 STHTRIT 3IU= THe T4 3iat I 7 faxaTs < b+ aTel 3RS dRI A Ut Hat g2

Options :




Question Number : 151 Question Id : 5038906793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A high rate of change of momentum will be ensured if there is-
Options :

1. ¥ A high change in force

2. % A slow change in force

3. # No change in force

4. % Infinite change in force

Question Number : 151 Question Id : 5038906793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T URady &1 U I &R YT 1 Smeet afe-
Options :

1. ¢ Ui 96 § U I URad-T |1

2. % G g1 H T o1 yRacH 8

3. % GG 9 | DI YRad= 7 gl

4. % i 9 H 3Fd uRad g1

Question Number : 152 Question Id : 5038906794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which is not an important point about the second law of motion?
Options :

1. #® The second law is obviously consistent with the first law.



2. % The second law of motion is not a vector dependent law.
3. % The second law of motion is applicable to a single point particle.

4. ® The second law of motion is a local relation, which means that force at a point in space at a certain instant of time is related to acceleration
at that point at that instant.

Question Number : 152 Question Id : 5038906794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B 91 71fd 1 g Frm & aR & ue Agayui faig gt 82

Options :

1. % ORI BT WY FY Y Ugd a8 & 3IU |

2. « Tifq o1 el o wfewr snféra Ao 7t 81

3. % Tfd &1 gIRT 990 Uohdl fog Ul R A BT ] |

4. % gﬁg?mg—%ﬂaﬁmww e 7, forent o g fos Iwa & el A o1 iR waf® o foeft fofg R @ 9@ I &7 33 flg R
[CRU I

Question Number : 153 Question Id : 5038906795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which statement is true for Newton’s third law of motion?

Options :

1. # The terms action and reaction means nothing but momentum.

2. ¥ The terms action and reaction in the third law may give a wrong impression that action come before reaction.
3. # Action and reaction force act on the same body.

4. % Action and reaction both are cause and effect simultaneously.

Question Number : 153 Question Id : 5038906795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ed & T & AR Faw & e &9 91 YT Ia 72
Options :

1. % fomar 3R wfaforan e &1 3rf ifq & 3ramar 3R $© 761 B



2.« IR fm o fosan oiR ufafosar &1 ord 7Taa &R ¢ 9ol | o fohar ufafesar T ugd ot 3|
3. % fopan SR Ufaferar 51 Ut €1 fils R i 3 B
4. % fopar 3R ufafshar SH1 Uep I1U HRUT 3R UHIE GIHT Bid &

Question Number : 154 Question Id : 5038906796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A car moving at Sm/s on a road, takes a turn in a circular road of radius 4m without decreasing the speed. The coefficient of static friction
between the wheel and the road i1s 0.2. What will happen while taking the turn?

Options :

1. ¥ The car will slip

2. # The car will not slip

3. ® The car moves steadily
4. ® The car will roll

Question Number : 154 Question Id : 5038906796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP HR JSH W 5m/s DI 1A J T I8! 3| 8 4m B & T qOIHR TS H 71fd Y 1 6T fo1 v A o 81 ufean iR Iso &
o Rifaes Tor &1 01 0.2 ] 1 WIS T9T (e A JHT) 1 I

Options :

1. ¢ HR ad STt

2. % HR gt el

3. % HR RR Faad) @M

4. % DR IGD STl

Question Number : 155 Question Id : 5038906797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
1 calorie is equal to—

Options :

1. % 6.183]



2. % 54561
3.9 4.186)
4. % 2378]

Question Number : 155 Question Id : 5038906797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
1 BARY (cal) P SRTSR Bl 8-

Options :

1. % 6.183 )

2. % 5456

3.9 4186 ]

4, % 23781]

Question Number : 156 Question Id : 5038906798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

For constant force and displacement the value of work done is maximum when the angle between them is-
Options :

1. ¥ mrad

2. % q/2 rad

3. ® m/3rad

4. * /4 rad

Question Number : 156 Question Id : 5038906798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3R § 3R fIRTT & o forw U orf 61 A 31l aH 81T 8 S1d 9% sd T Il idl 8-
Options :

1. ¥ nrad

2. % /2 rad

3. % w/3rad



4. % 1/4 rad

Question Number : 157 Question Id : 5038906799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The kinetic energy of 3.5 x 10~ kg of rain drop at a terminal speed 9 m/s is about:
Options :

1. % 35%10°)

2. %35x1037

3.% 1.2x1073)

4.9 14x1073]

Question Number : 157 Question Id : 5038906799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3.5 x 105 kg @1 SRR &1 §g B TS Sroll 1 &, oIt T 977 9 HiexAdh e 82
Options :

1. % 35%x10°]

2. % 35%x103)

3.% 12x103]

4.9 14x1073]

Question Number : 158 Question Id : 5038906800 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A toy car is moving with a velocity of 2m/s. Its mass is 1kg. It enters into the rough path and moves from 0.10m to 2.01m. The retarding force
(Fy) on the car in this path is inversely proportional to the path (x) over this range,

Fy=-k/x For 0.1 <x<2.0lm

=0.Forx<0.1 Andx>2.0lm
Where k = 0.5 J. Find the final speed of the car.

Options :



1. # 2m/s
2. % lm/s
3. % 4m/s
4. % 3m/s

Question Number : 158 Question Id : 5038906800 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T FIAHT BR 2mv/s F AT Y IA @] ¢ | STPBT GTHAM kg & | T8 GRGL I | YA Bt & 3R 0.10m F 2.01m Ib I & | 39 T H HR
R Hed §d (F,) Ffeiad T R Uy (x) & SJehAruTd 8idl g,

F, = -k/x 0.1 <x<2.0lm & ferg

=0.x<0.1 3R x>2.01m & fo1Q

S8l k = 0.5 1 DR DI 3{fcd 71fd 7 BT
Options :

1. ® 2m/s

2.9 1m/s

3. # 4m/s

4. % 3m/s

Question Number : 159 Question Id : 5038906801 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which statement is false for spring constant?
Options :

1. ¥ Its unit is Nm

2. % The spring is said to be stiff if K is large
3. % TIts unit is N/m

4. ¥ The spring is said to be soft if K is small

Question Number : 159 Question Id : 5038906801 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



&1 fRadie & o S-a1 HU 3 82

Options :

1. ¢ 3THT AFS Nm §

2. % Ife K &1 9 9gd 3Ife g, 79 BT &l 26 HeT AT g
3. ® IYBTHED N/m &

4. % e K &1 AF &4 g, 79 BT &Y 76 Hgl of1d 8

Question Number : 160 Question Id : 5038906802 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The approximate energy associated with thunderstorms is:
Options :

1. ¥ 1015

2. % 1014

3. % 1013

4. % 1012

Question Number : 160 Question Id : 5038906802 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

USR] (TR & 1Y a8 & 1Y T[S A1 SHoif &

Options :

1. ¢ 1015
2. % 1014
3. % 1013
4. % 1012
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Question Number : 161 Question Id : 5038906803 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The speed of an elevator is 2m/s when it carries a maximum weight of 1800 kg.The opposing force experienced by the elevator is 4000N. What
is the minimum power delivered by the motor?

Options :
1. ¥ 5%hp
2. % 47hp
3. ® 57hp
4. % 63hp



Question Number : 161 Question Id : 5038906803 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS foT0e &1 A7 2m/s § 919 I8 Hd STHM 1800 o311 &1 a8+ vl 8 | forde §RT 3rva fosan T faiel & 4000N g 1 HieR gRT &t 5TH
qTel <gAdqH e 31 82

Options :

1. ¢ 59hp

2. % 47hp

3. % 57hp

4. % 63hp

Question Number : 162 Question Id : 5038906804 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A constant power is applied to a body, so the body is moving unidirectionally. Now at any time t, the displacement of the body is proportional to
Options :

1 ® 1
2. & 312
3 # ta,fz

4. % t73/2

Question Number : 162 Question Id : 5038906804 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TP I IR IS ST I (AT T 8, o g el U F 3 Sgal o | 3fd faalt off T + IR avg &1 faum= |
3T gra 3|

Options :




2.« t3/2

3. % t3/7

—-3/2

Question Number : 163 Question Id : 5038906805 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The movement of the axis of the spinning top around the vertical is termed as
Options :

1. % Rotation

2. % Oscillation

3. % Spinning

4. ¥ Precession

Question Number : 163 Question Id : 5038906805 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SER F IR IR B P AAD FEToNar gl
Options :

1. % goiq

2. % SIARIHA

3. % g

4.« TR

Question Number : 164 Question Id : 5038906806 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

What is the magnitude of the vector product for @ = 2{- 4 - 3k and b = -3 +j+ 3k
Options :

1. % 170

o

S
<
=
e
o

Question Number : 164 Question Id : 5038906806 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
d=21 4j - 3k 3R b =31+ + 3k & T AFLr 0TI T IRATOT F2AT &2

Options :
1. % /170

o

S
=t
=
e
o

Question Number : 165 Question Id : 5038906807 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The length of an iron bar is 0.7 m and its mass is 4 kg. The bar is supported on two knife edge placed 0.1 m from each end. A load of 6 kg is
suspended at 0.3m from one end. What are the reactions at each of the knife edges?

Options :

1. # 55N and 21N
2. % 43N and 25N
3. % 55N and 43N
4. # 37N and 63N

Question Number : 165 Question Id : 5038906807 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP TNE-9R DI AT 0.7 HIex § 3R DT ST 4 I 8| TS BR I 0.1 HIex i g3l IR I &l I1% & [hAR IR IR W TG 6
T BT UR T RR T 0.3 Hex R AecH™ a1 8| I1% & UAD fh-R IR 31 ufafeear gt

Options :

1. % 55N 3R 21N
2. % 43N 3R 25N
3. ¢ 55N 3R 43N
4. % 37N 3R 63N

Question Number : 166 Question Id : 5038906808 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What shall be the moment of inertia of a thin rod of length L along the axis perpendicular to rod at mid point?
Options :

1. % ML/12

2. ¥ ML¥/12

3. % ML%/10

4. % ML%/14

Question Number : 166 Question Id : 5038906808 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



L TETS $! Uddll 88 & A fog ¥ ToRd! daTs & aaad el IR ST SATg0l T g2

Options :

1. % ML/12
2. ¥ ML%/12
3. % ML2%/10
4. % ML%/14

Question Number : 167 Question Id : 5038906809 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Mass of a uniform metal rod is M and length is 1. Find the moment of inertia of the rod about an axis perpendicular to it through one end.
Options :

1. ¥ MI%/3
2. % M1%/4
3. % MI%/12
4. % M1%/14

Question Number : 167 Question Id : 5038906809 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SAM M 3R TaTS 1 ATel BE BT, 39 el & URd: TScd g0l a1 g1 Sl S A fha U RR I oIl 812

Options :

1. ¥ MI2/3
2. % M1%/4
3. % MI%/12
4. % M1%/14

Question Number : 168 Question Id : 5038906810 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The point where satellite is nearest to the earth is called—



Options :

1. ¥ Perigee
2. % Apogee
3. # Perihelion
4. # Aphelion

Question Number : 168 Question Id : 5038906810 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g fag 98T SuUe gadt & wed fave BT §, g and 6-
Options :

1. ¢ IUY (Y-THITD)

2. % 3UY (URTHTFT)
3. % JUAR
4, % JUIR

Question Number : 169 Question Id : 5038906811 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the net external force acting on a system is zero, then its total momentum 1is zero.
1. Linear
2. Angular

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. Only 1

2.Only 2

3.Both 1 and 2

4. Neither 1 nor 2

Question Number : 169 Question Id : 5038906811 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Hﬁﬁﬁmlqmmlﬁmﬁ qTeT Y& STl 9 YA 8, dl IqHT Hdl G LI AT g |
L.
2. DI

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. had 1

2. had 2

3.1 3R 2 GH

471 ARAG2

Question Number : 170 Question Id : 5038906812 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The earliest 'geocentric' model in which all celestial objects, stars, the sun and the planets all revolved around the earth, was proposed by

Options :

1. # Galileo

2. ¥ Ptolemy
3. % Aristotle

4. # Copernicus

Question Number : 170 Question Id : 5038906812 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
RIS Yo Aied forad Tt W fie, ar, I iR 78 it et & aRT iR grd €, ST TRt fopam T T
Options :

1. % Tefiferal



2.« 2lad

3. % 3R
4. % HIRAGY

Question Number : 171 Question Id : 5038906813 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Suppose four equal masses (m) are present at the four corners of the square room of side r. If the gravity is G then find the gravitational potential
energy for the system of four masses.

Options :

_5.415™
L 541 i

LA

]

[
]
3

Question Number : 171 Question Id : 5038906813 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A T s + YT 1A TR R & IRI Bl R IR HHRAD GHHH (m) HINIG & | Tfe TE@IBHY G § dl IR STAMI & Foh™ &
fore oy fRufs Soll I1d SifoTg |

Options :

Y )
1. ¥ e




Question Number : 172 Question Id : 5038906814 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The escape speed for the moon is times smaller than the earth.
Options :

1. % 4

2.¥5

3.% 6

4. % 3

Question Number : 172 Question Id : 5038906814 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

G H A A QA AT B 8l
Options :

1. % 4

2.¥5

3.% 6

4. %3

Question Number : 173 Question Id : 5038906815 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Suppose a planet has two natural satellites. The period of one natural satellite is 7 hours, 39 minutes and an orbital radius of 9.4 x 103 km. Find
the mass of the planet.

Options :



1. % 548 x 1023 kg
2. % 579 x 10%2 kg
3. % 6.79 x 10%2 kg
4. ¥ 6.48 x 102 kg

Question Number : 173 Question Id : 5038906815 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A AT i T T8 & &1 Wi SUUE & | U Wi ae SUUE &1 3afd 7 6, 39 fie iR Fef & Bsan 9.4 x 103 fsft g1 Ug &1
SSH JTd BifoTT |
Options :

1. % 548 x 102 f&ur
2. % 579 x 1022 fU1
3. % 6.79 x 1022 {301
4. 6.48 x 105 four

Question Number : 174 Question Id : 5038906816 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The mass of a satellite is 400 kg. The satellite is circulating in a circular orbit of radius 2R. Find the energy which is needed to transfer it to
another circular orbit of radius 4R. (Given R = 6370 km)

Options :

1. % 351x10°J
2.9 3.13x107]
3.% 423x107]
4. % 351 x10%)

Question Number : 174 Question Id : 5038906816 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP IUWIE BT GHAM 400 f31 81 SUUE 2R BT B1 AR He H URITRT 81 §Y 4R B BT TP 37 i1 Hefl J MR B &



fore anazae Suif ra S| (FRear T R = 6370 fHh

Options :

1. % 351x107J
2.¥3.13x107]
3. % 423x107]
4. % 351 x10%)

Question Number : 175 Question Id : 5038906817 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The duration of a planet year is 29.5 times the earth year. Find the distance between the planet and the sun if the distance between the sun and the
earth is 1.50 x 108 km.

Options :

1. % 143 x 10" Km

2. % 1.43 x 108 km

3. 1.43 x 102 km

4. % 1.43x 10" km

Question Number : 175 Question Id : 5038906817 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP U8 99 &1 Safy geaft ay o1 29.5 T ¢ | afe I 3R gdl & ola B g 1.50 x 108 fHe &, A1 78 3R T & &d &1 gl 1 Dr|

Options :

1. % 1.43 x 1010 fut
2. % 1.43 x 108 fpul
3. ¢ 1.43 x 1012 fop it
4. % 143 x 104 fout

Question Number : 176 Question Id : 5038906818 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which is true for a simple harmonic motion?

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.

Options :

1. It is an oscillatory motion in which the displacement of the particle from the origin varies with time.
2. It is also a periodic motion.

3. It is a motion in which displacement is a sinusoidal function with time.

4. It is a circulatory motion.

Question Number : 176 Question Id : 5038906818 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR I AT o o -1 9 82
Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.

Options :

1. I8 U SIAHM T § Ford ga ¥ ST &1 fawiTo= 90d & 1Y 9eadi 8dl g
2. T8 U 3f1ad i o g

3. U8 U U 7ifa B Ford faiTu= w9 & 1y v Sarash 1 Sfiaers |

4. 9% U URGERUI T g |

Question Number : 177 Question Id : 5038906819 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Example of a function of time which represents simple harmonic motion is
Options :

| % log |wt

) ® Cos 2wt + sin 3wt + sin 4wt



3 asin(wt+@)

4 % asin®(wt+ @)

Question Number : 177 Question Id : 5038906819 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT & Th ol BT IS0 Sl IR Tad Tfd &I FRefud Hrar g
Options :

| % log |wt
) % Cos 2wt + sin 3wt + sin 4wt

3  asin(wt+@)

4 % asin®(wi+ @)

Question Number : 178 Question Id : 5038906820 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A wooden block of mass 5 kg is attached to a spring. It slides without friction over a horizontal rod. The block is displaced from its equilibrium
position by 0.1 m and released. Find the maximum speed of the block. (Given spring constant is 500 N/M)

Options :

1. ¥ 1 m/s
2. % 2m/s
3. % 3m/s
4. % Yym/s



Question Number : 178 Question Id : 5038906820 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

5 fF 1T SoTHH &1 U Aol &l S U BT I J3T 5 | I8 T &fas] 8o TR gyl & -1 TS HR1 8 | i Bl U1 Ao Rufd 4
0.1 Hiex farnfid farar STar 8 iR BIST SI1a1 3| e b1 3if¥saw 7ifd 1d Sifve | (w7 fBin fRRTH 500 N/M B)

Options :

1.¥ 1m/s

2. % 2m/s

3. % 3m/s

4. % Yom/s

Question Number : 179 Question Id : 5038906821 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Suppose the length of the string of a pendulum is L and the mass of the bob attached is m. Taking moment of inertia as I, find the angular
acceleration for small displacement.

Options :

= Bt
2. % _mfrﬂ
3.ua——m?mﬂ
4'9/&——me&

Question Number : 179 Question Id : 5038906821 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A Ao {3 T Aad Bt SRT 1 AaTs L § 3R S TaAd HI STHH M g | TSl & &I &1 1 & 0 J ad gu, Y [+ & fag




B0 =0T J1d B |

Options :
a=m;ﬂﬂ
1. ® I
_mgfﬂ
2. ® L
_mg.l’
3 % a = ; 7
mgkL
a=— 7}
4. ¢ I

Question Number : 180 Question Id : 5038906822 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The mass of the block attached to the spring is 200g. Its damping constant is 40g/s. If the value of the spring constant is 90 N/m, then find the
period of oscillation.

Options :
1. %058
2.% 048
3.9038S
4. % 028

Question Number : 180 Question Id : 5038906822 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
BT ¥ I Al BT ZTHM 200 T €| DT 3aHe RRRI® 40g/s 7 | A FERT Fodics &1 A 90 N/M &, f Qle &1 SfaddTd 1d

DITTT|
Options :
1. % 058




2.%048

3.038S
4. % 028
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Question Number : 181 Question Id : 5038906823 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Suppose the length of a pendulum is L and the mass of the bob is M. It is suspended in a toy train. The toy train is moving in a circular track of
radius R with speed V. The pendulum makes small oscillations in a radial direction about its equilibrium position. Find the time period of
oscillation.

Options :

2m

Question Number : 181 Question Id : 5038906823 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A S fb T Tas &1 daTs L § 3R e &1 SqM M Sl U ¢id ¢ H dedl g3 /1 T ¢ 71fd v & I AT R & U&
MR ¢ & gH el 8| Aiad 30! Ida- fUfd & aR 7 By G # S1e-81e e axdl g | Sia- &t JHamafe 1d Sifod |

Options :




Question Number : 182 Question Id : 5038906824 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Electron Microscope is related to which types of wave?
Options :

1. % Electromagnetic wave

2. % Mechanical wave

3. % Matter wave

4, % Radio wave

Question Number : 182 Question Id : 5038906824 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

godeH geaeel i TR @t av § Wafid 82
Options :

1. % faggd D ORI

2. % AP qHT

3. ¢ Uard o



4. % YA R

Question Number : 183 Question Id : 5038906825 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who out of the following is not a famous scientist associated with the physics of wave motion?
Options :

1. # Christian Huygens

2. % Robert Hooke

3. # Isaac Newton

4. % Simeon Poisson

Question Number : 183 Question Id : 5038906825 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fofafed 8 3 oF a1 i & Wide! 9 d6fta URig axmHe 761 82

Options :

Question Number : 184 Question Id : 5038906826 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A string of mass 5g is 0.72m long. The string is under a tension of 60N. Find the speed of transverse waves on the string.
Options :

1. % 85m/s

2. % 93m/s

3. % 97m/s

4. % 83m/s



Question Number : 184 Question Id : 5038906826 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

5¢ GH 1 U SIRT 0.72 Hiex dall g1 ST 60N & T | g | SR TR IR TRl ! A1dl A1 DIToTg |
Options :

1. % 85m/s

2. % 93m/s

3. % 97m/s

4, % 83m/s

Question Number : 185 Question Id : 5038906827 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In case of a wave, the points at which the amplitude is the largest are called
Options :

1. ¥ Nodes

2. ¥ Antinodes

3. ¥ Fundamentals

4. ¥ Odd harmonics

Question Number : 185 Question Id : 5038906827 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH a1 & Aa 3, fory fog R smamm ged se18lar s 39 CRSISIE
Options :

1. ® quify

2. ¥ U

3. # Hddd

4. % 3RS gHIHFT



Question Number : 186 Question Id : 5038906828 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Suppose two strings of musical instruments produce beats of frequency SHz when playing the same note. If the tension of the second string is
slightly increased, then the beat frequency is found to decrease to 3Hz .What is the original frequency of the second string if the frequency of the
first string is 427Hz?

Options :

1. ¥ 422Hz
2. % 430Hz
3. % 432Hz
4. % 424Hz

Question Number : 186 Question Id : 5038906828 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A SifoTe fob Tita arerd=l & <1 dR (SRY) 516 U &1 e TR 5Hz &1 HYS Mgl S99 o g | afe gERl SRI &1 a9 4TSl 9a1 faar 9e
o THreroT STy Tehe 3Hz B o1 81 GORt SRI &1 o SRy o1 gHT afg Ugel R & 3Rl 427Hz

Options :

1. ¥ 422Hz

2. % 430Hz

3. % 432Hz

4. % 424Hz

Question Number : 187 Question Id : 5038906829 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which harmonic-mode of one end closed pipe of length 20cm is resonantly excited by a 430Hz source when the speed of sound in air is 340m/s?
Options :

1. ¥ First Harmonic

2. # Third Harmonic

3. # Fifth Harmonic

4, % Second Harmonic



Question Number : 187 Question Id : 5038906829 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

% RR T Gal fhdl ursy & dars 20 T B 1 430Hz MG & Tid §RI3H UISY &1 HI4H-51 TOMgHRT faen 1 SrAT1e gR1 S<ford foear S
82 arg H a1 1 AT 340my/s B

Options :

1. ¢ GYH TuIgf
2. % g omgf
3. % Uigdl g
4. % fgdig omgfy

Question Number : 188 Question Id : 5038906830 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A torsion balance is an instrument used to

Options :

1. ¥ Measure force between two charged metallic spheres
2. % Measure electrostatic charge present in a body

3. # Measure potential between two charged body

4. ® Measure polarity of a charge present in a body

Question Number : 188 Question Id : 5038906830 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T3 o U SUSBRUI § fSraehT Iugi forar ST g |
Options :

1. ¢ YTq & &l AT el & g ol 9 DI AT & g
2. % ot fife & Aive RRAGY SMax &1 A9 & forg
3. % 3 3maf¥ra fist & o fava &t arga o

4. % ot i o IufRya A= &t gfadr Arg o




Question Number : 189 Question Id : 5038906831 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The electrostatic force exerted by a proton on an electron when they are 1A apart is
Options :

1. % 1.3x108N

2.¥23x108N

3.%23x10°10N

4. % 13x1010N

Question Number : 189 Question Id : 5038906831 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH 3ageH UR e gRT T 7T fRUd dggd 9 o 8T o/d 31 &d 1 ol 1A Bt 82
Options :

1. % 13x108N

2.¥23x108N

3.%23x10710N

4.% 13x1010N

Question Number : 190 Question Id : 5038906832 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the electric field at a distance r from an infinitely long straight uniformly charged wire of linear charge density A.

Options :
- e
E = it
1 ® e
—3 2A .
E = 1



—& A

i = il
3 @ 2megr

= A

= il
4 ® dme, T

Question Number : 190 Question Id : 5038906832 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AAF 3T G ). F 3d TaTS P THIAH ARG HY IRV g8 r R fAgga & Id i

Options :
— j:
o= 1)
1 % TEgT
= 24 ..
F—= 1)
o ® TET
— A
i = il
3 @ 2megr
— A =
= i
4 ® dme, T

Question Number : 191 Question Id : 5038906833 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the potential at a point A due to a charge of 5 X 1078 C located 90 cm away.

Note: For this question, discrepancy is found in question/answer. So,this
question 1s 1gnored for all candidates.



Options :

1.4X 10*V
2.2X10%Vv
3.3X 102V
4.4X10%V

Question Number : 191 Question Id : 5038906833 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

90 9T g fRYd 5 X 1078 C & 3M1dR & HRUI T foig A TR favd J1d Hifora|
Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1.4X 10*V

2.2X10%V

3.3X 102V

4.4X10%V

Question Number : 192 Question Id : 5038906834 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two charges are located at A and B. The distance between A and B is 14cm. The quantity of charge at A is 4 X 108C and B is -3 X 1078 C. At
what point between A and B the electric potential is zero?

Options :

1. ¥ 8 cm away from the positive charge on the side of the negative charge.
2. % 8 cm away from the negative charge on the side of the positive charge.
3. # 10 cm away from the positive charge on the side of the negative charge.
4. % In the middle of the two charges.



Question Number : 192 Question Id : 5038906834 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

G SO A MRBIRRATEIANRBF T BI G 14 TH G 1 A TR AU DI ART4 X 108C B AR B-3 X 108 C I A IR B F da fpy
fig R fagga fava g &2

Options :

1. ¢ BUMHD AR DI 3R, YATHD A Y 8 Y X |
2. % YIIHD 3AR P 3R, BUNHD A J 8 I G|
3. % BUMHD A B 3R, YTHD AR 10 I G|
4. % g 3Ta=N & g |

Question Number : 193 Question Id : 5038906835 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
An ionic polar molecule is-

Options :

1. ® H,

2. % HCI

3.% 0,

4. % CO,

Question Number : 193 Question Id : 5038906835 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ueh 3 g 3] 8-

Options :
1. * H,
2. % HCI
3.% 0,
4. % CO,



Question Number : 194 Question Id : 5038906836 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the dimensional formula for impulse?
Options :

I.* MLT

2. % Ml

3. % ML T

4. ¢ MLT!

Question Number : 194 Question Id : 5038906836 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
31T <1 T 3 T &2

Options :

l.* MLT

2. % mlptrd

3. % MLl 1!

4. ¢ MLT"!

Question Number : 195 Question Id : 5038906837 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The relation between current density and drift velocity is-
Options :

1. % joc*u.."""’_d
) % jox 1,‘“1*."'1!_&

3.9 1%V



4. % .3'0{1.""”,1

Question Number : 195 Question Id : 5038906837 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YRT I 3R 3{UATE I & i Gy -
Options :

1w Jxva
2‘ e _jDC 1!;1,,."|'v_ri
3.9 1% Vs

4. % .3'0{1.""”,1

Question Number : 196 Question Id : 5038906838 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Suppose the resistance of a nichrome wire is 100 ohm at 29° C then
what is the temperature of the nichrome wire whose resistance is 117 ohm.
(temperature coefficient is 1.70 = 10*/°C)

Options :

1. # 1021°C
2. % 921°C
3. % 987°C
4. % 1027°C

Question Number : 196 Question Id : 5038906838 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

AT AT & U A5 ar &1 9faer29° ¢ 93 100 37 B
Tt TSR aR &7 aTgaT 41 19 TaaaT UfaRrer 117 33 8?
(ATIAT 30T 1.70 x 104/°C )

Options :

1. % 1021°C
2. % 921°C
3. ¥ 987°C
4.+ 1027°C

Question Number : 197 Question Id : 5038906839 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the order of magnitude of magnetic field of human nerve fibre in Tesla?
Options :

1. % 10?

2. % 102

3. % 1073

4.¢ 10710

Question Number : 197 Question Id : 5038906839 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

XA H AG AT dq o 991 & o TRHT BT HH 1 57
Options :

1. % 10

2. % 102

3. % 1073

4.¢ 10710




Question Number : 198 Question Id : 5038906840 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Suppose an electron is moving in a magnetic field at speed of 3 x 107 m/s, perpendicular to the field. The strength of the magnetic field is 6 x 10°
4 T. Find the radius of the path (taking mass of electron 9 x 10731 kg)

Options :

1. ® 22 cm.

2.9 26 cm.

3. % 29 cm.

4. % 32 cm.

Question Number : 198 Question Id : 5038906840 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A Ao {3 TP Saiae- ad g 8 H 3 x 107 mys i 71 F & & dadd Tid I GH 8T §, GaD T &7 DI d1hd 6 x 104 T 81 T4 1 B
I B (FAF DT G0qM 9 x 103! {31 dd gO)
Options :

1. % 20 Mt
2. 26 94
3. % 20w
4. % 32 9!

Question Number : 199 Question Id : 5038906841 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A coil is wounded tightly. The coil has 100 turns and its radius is 10 cm. It carries a current of 1 A. Find the magnitude of the magnetic field at the
centre of the coil.

Options :

1.¥628x104T
2. % 628x10°T
3. % 624x102T



4. % 611 x103T

Question Number : 199 Question Id : 5038906841 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
PUSH T¢ TG AT H 81 FUSE H 100 HIS § 3R 3P 341 10 TH 81 3T 1A Pt faggd URT 5| FUSTH & Hg R TEHIT &F Bl
RIRSIVEICEFISI

Options :

1.¥628x104T
2. % 628%x10°3T
3. % 624x102T
4.% 611x10°3T

Question Number : 200 Question Id : 5038906842 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Nano physics is study of particle with at least one dimension between 1 and nanometres.
Options :

1. ¥ 100

2.% 10

3. % 1000

4. % 10000

Question Number : 200 Question Id : 5038906842 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A ot 1 9 AR & g HH Y HH TS A I HUT BT 3T g |
Options :

1. ¥ 100

2. %10

3. % 1000
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Question Number : 201 Question Id : 5038906843 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is not an approach to make nano materials-



Options :

1. # top-down

2. # bottom up

3. ¥ middle up down

4. # top down and bottom up

Question Number : 201 Question Id : 5038906843 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FrafaRad o 9 oF W UGk i Y& i §9M & S el S
Options :

1. #® <Y 8134

2. #® dlcH A{Y

3. ¢ fofee 3 Sra

4. % TU T3 3R 91¢H 3

Question Number : 202 Question Id : 5038906844 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fe, Co, Ni are ferromagnetic in bulk state but in nano phase they change to-
Options :

1. % paramagnetic

2. % superparamagnetic

3. * non magnetic

4. % diamagnetic

Question Number : 202 Question Id : 5038906844 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fe, Co, Ni URHIU A AIg BT BId & U Ta! Hfa e Fufa o ford U R g1

Options :



1. % 3 EHY

2. ¢ fO=ITd S gD
3. % JJEHY

4. % gladaoiy

Question Number : 203 Question Id : 5038906845 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Moore’s law states that amount of space required to install a transistor on a chip shrinks by roughly every months.
Options :

1. % 12

2. % 18

3. 24

4. % 30

Question Number : 203 Question Id : 5038906845 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R & gm o g1 T g s g | giforer wifia w1 & forg siaxge RIM &1 7 @t g} TeH # e S ]
Options :

1. % 12

2. % 18

3.9 24

4. % 30

Question Number : 204 Question Id : 5038906846 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Metals in nanophase absorbs:
Options :

1. ®* helium



2. ¥ hydrogen
3. #® carbon
4. # lithium

Question Number : 204 Question Id : 5038906846 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3ifa ger 3rawT & YTq T T80 B 82
Options :

1. ® giferaH

2. ¥/ ISl

3. % BIeH

4. % fofygH

Question Number : 205 Question Id : 5038906847 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As the size of nanoparticle decreases electrical conductivity
Options :

1. # increases

2. % decreases

3. % Stays the same

4. % can’t predict

Question Number : 205 Question Id : 5038906847 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3{fd G&A HUN o DHR U & 1Y gl faggq e
Options :

1. % §gdI 8

2./ 9Tl g




3. % g WA B
4. % 3{IAM T3] T Tehd

Question Number : 206 Question Id : 5038906848 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Nanomaterials may have  melting point or phase transition temperature as compared to bulk material.
Options :

1. # higher

2. ¥ lower

3. # same

4. ® infinite

Question Number : 206 Question Id : 5038906848 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ffager il & gaT A AR W eI 1 °RUT HehHUT dT9HH 81 gl g |
Options :

1. % 3

2.« {=ran

3. % gHMH

4. % 3d

Question Number : 207 Question Id : 5038906849 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements is not correct about Coulomb's Law?
Options :

1. ¥ Coulomb's Law states that the force between two-point charges Qland Q2 is inversely proportional to the product of the charges and
directly proportional to the square of the distance between them.

2. % Point charge is a hypothetical charge located at a single point in space. It is an idealized model of a particle having an electric charge.

3. # The electric field intensity or the electric field strength at a point is defined as the force per unit charge.



4. ¥ When we have a number of point charges, to determine the force on a particular charge due to all other charges, we apply principle of
superposition.

Question Number : 207 Question Id : 5038906849 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FaE & Fga & IR § Fafifad o § oF 91 Hu= 98t T8 82

Options :

1. ¥ G $I 190 Hgdl § [ al-fdg M=l Q1 3R Q2 & &1d HT I TR & VMG o HSHHIIU 8IdT § 3R 3D o1 I g2l &

o o Tte SruTfaies gt 81

2. % foig 3maw sidfker § U fog W fRUd U STeder S 8| I8 U [aggd SITaRT aTdl 601 &1 U Sex Ared ¢ |

3. % U foig IR fagya & 1 digar a1 faggd & &t dievd o1 aReIfd forar ST 2

%;Haaszzﬁugﬁﬁg AR B §, A 3= Tt 31a=if & HRUT fhlt faRiy S1aw IR §d &1 R & & Y, 89 SRl 6
[SIDK I

Question Number : 208 Question Id : 5038906850 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Divergence theorem states that the volume integral of the divergence of vector field is equal to the net outward flux of the vector through the
closed surface that bounds the

Options :

1. % Area

2. % Density

3. # Inner Surface
4. ¥ Volume

Question Number : 208 Question Id : 5038906850 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ﬁw@uﬁww%%%%% faeraH 1 I GHIH A d¢ dg & H1egH J I & YG Jad Ja8 F SRR g ol fb
Heg gl

Options :




1. % &7

2. % g9

3. % AR Idg
4. ¢ 3{TTOdA

Question Number : 209 Question Id : 5038906851 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which theorem states that “the surface integral of the curl of a function over a surface bounded by a closed surface is equal to the line integral of
the particular vector function around that surface”.

Options :

1. % Divergence Theorem
2. ¥ Stokes Theorem

3. % Gauss Law

4. % Electric Curl Law

Question Number : 209 Question Id : 5038906851 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"I 8¢ Iag I okl Tdg R fht thaw & ool BT Idg Sciud 39 Idg & IR} 3R [y Jaex Hha=M & A 3¢ 1Ud & SRR gid1 8~
Tg frg faw / uAg & Rae 9 72

Options :

1. % faga- uag

2. ¢ W yuy

3. % T g

4. % Zdfdcd ol aH

Question Number : 210 Question Id : 5038906852 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The maximum electric field that a dielectric medium can withstand without break-down (of its insulating property) is called its
Options :



1. ¥ dielectric strength
2. % dielectric breakdown
3. % Uniaxial strength

4. % Biaxial breakdown

Question Number : 210 Question Id : 5038906852 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%&ﬁ?ﬂﬁ@aaﬁmﬁéw%wmmmmmwmwm%%ﬂmwdl%,wmmar?r
Hedr gl

Options :

1. ¢ WRIdggd A
2. % RIdGYd HoH
3. % TPHIe AEE

4. % fgarefig vieH

Question Number : 211 Question Id : 5038906853 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Nuclear masses are measured in

Options :

1. ¥ atomic mass unit

2. # grams

3. % moles

4. % electron volt

Question Number : 211 Question Id : 5038906853 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ORHTY] SHHT I o AT ST B

Options :



1. ¢ TRHEY] GoqHH 3hT8
2. % I

3. % Ad

4. % glacH dic

Question Number : 212 Question Id : 5038906854 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is incorrect?

Options :

1. # In Gamma decay the energy (MeV) corresponds to radiation of extremely short wavelength, shorter than the hard X-ray region
2. # Typically, a gamma ray is emitted when a a or P decay results in a daughter nucleus in an excited state.

3. # In beta decay, a nucleus spontaneously emits an electron or a positron

4. ¥ While a free neutron decays to proton, the decay of proton to neutron is not possible inside the nucleus

Question Number : 212 Question Id : 5038906854 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9§ ¥ pH- 3T B

Options :

1. % T7HT & H Foll (MeV) HOR X-fbRull & uRer § & dRereed arel fafepuil & Teifdd g &

2. % I ot T fohR0T &1 Ioi, Siethl 3UdT del-& H fageol A1fie &1 Iaford Sawi H 381 &I aRTH gidT g
3. % Sicr-ef ¥ el Tfe T U Saiae i 31aTl U GIeici- &l Wd: ST gidl §

4. ¢ &P Had Y- BT G Wi J 8idT § TR AIMNS & 3fax Uleld &l I g2 | 3Ha §

Question Number : 213 Question Id : 5038906855 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Energy is released by of nuclei.
Options :

1. # fusion only



2. # fission only
3. % both fission and fusion

4. % Can’t be determined

Question Number : 213 Question Id : 5038906855 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e & GRT ol AR} &1 STl 5|
Options :

1. % {qed daa

2. % foQeT Had

3. ¢ gl 9y ok fade

4. % TR =751 foba S wobhel &

Question Number : 214 Question Id : 5038906856 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Mediating particles that can exist only because of the uncertainty principle for energy are called
Options :

1. % permanent particle

2. % virtual particle

3. # temporary particle

4. % real particle

Question Number : 214 Question Id : 5038906856 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T AR HUI Sl Had Soll & A1 RGId & SRUANG sl dPd 6,  HedAld ¢l
Options :

1. % R B0l

2. ¢ MU BT




3. % YR HUr
4. % IRAAD HUI

Question Number : 215 Question Id : 5038906857 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
There are thoughttobe  types of quarks.
Options :

1. # five

2. ¥ six

3. % seven

4. % eight

Question Number : 215 Question Id : 5038906857 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
 UBR S HP AA I B
Options :

1. % U9

2. ¥ Bo

3. % YId

4. % S

Question Number : 216 Question Id : 5038906858 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Strongly interacting particles are called
Options :

1. ¥ hadrons

2. # fermions

3. ¥ mesons



4. % bosons

Question Number : 216 Question Id : 5038906858 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS 0 I IRER {3501 6 913 Sl b CRACIGI
Options :

R i

2. % HiHaH

3. % HEY

4. % §MGH

Question Number : 217 Question Id : 5038906859 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The interaction between quarks is mediated by
Options :

1. # bosons

2. # mesons

3. % gluons

4. % fermions

Question Number : 217 Question Id : 5038906859 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HIH] & 8 IR AT P DI AT GRIDI A g
Options :

1. % §

2. % U

3. ¢ T3

4. % HIH3AH




Question Number : 218 Question Id
Orientation : Vertical

: 5038906860 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
Proton consists of number of quarks.

Options :
1. ¥ three
2. % four
3. % two

4. % five

Question Number : 218 Question Id
Orientation : Vertical

: 5038906860 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25

e o BT bl T gl ol

Options :
1. ¢ A
2. % TR
3.% Q)
4. % Ug

Question Number : 219 Question Id
Orientation : Vertical

: 5038906861 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is not a lepton?

Options :

1. #* electron

2. * tau particle
3. % muon

4. ¥ proton

Question Number : 219 Question Id

: 5038906861 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

RmfRifed 3 & P81 T ApE T 3
Options :

1. % ScdacH

2. % CIS (PN

3. % T3

4. UIcH

Question Number : 220 Question Id : 5038906862 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fermions have integer spin.
Options :

1. ¥ half

2. % one

3. # two third

4. ¥ one third

Question Number : 220 Question Id : 5038906862 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
wifai A quiies R I 5|
Options :

1.« 3HIUT

2. % U

3. % QI faers

4. % o fogrs
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Question Number : 221 Question Id : 5038906863 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the rest mass of a photon in free space?
Options :

1. ¥ zero

2. % same as mass of electron

3. ®* same as mass of proton

4. % negative



Question Number : 221 Question Id : 5038906863 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o HTHT H Wie &1 o gadH (¥ A1) fra-n gidr g2
Options :

1. ¥ I

2. % ZAaC b GO & M

3. % YIcH & G0 & I

4. ® BUTHD

Question Number : 222 Question Id : 5038906864 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is not true?

Options :

1. ® If the net external force acting on a body or a system of particles is zero, the linear momentum of the system is conserved
2. % If a Force (F) acts on the system for a given time, it produces a change in the momentum of the system, equal to its impulse
3. # The relativistic total energy of a particle is the sum of its Relativistic-Kinetic-Energy and Rest-Mass energy

4. ¥ For a particle of Relativistic-mass, such as Photon, the relativistic — energy-momentum relation becomes e = pc

Question Number : 222 Question Id : 5038906864 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRad # 4 oH T &Y s 82

Options :

1. % gie fodt s a1 ol & Mo IR S a1 a1a s 91631 9 A 6, a1 FdhIa BT XRId T AT XgdT &

2. % gfe BI3 9 (F) foodt FAf¥a Tvg & o fRor R &1 $7ar 3, Y 98 e & a1 § I9& 317 & sRIeR URadd Idd Bl g
3. % {5 S0 Bt UMD Fa SHoll SUDT SMUTEH T -TTAA-Fot 3R fAHTH-ZTAH Soll BT AT 5

4.« 3OS G U HUT & folE S hIeH, 3MUfére iR Solf YT &1 Talef e = pe 4 ST §




Question Number : 223 Question Id : 5038906865 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following scientists established the evidence of radioactivity in elements like Thorium, Polonium and Radium as well and that
radioactivity is a nuclear property of the element concerned and remains unaffected by physical or chemical changes?

Options :

1. % Rutherford

2. # P. Villars

3. % Becquerel

4. ¥ Madame Marie Curie

Question Number : 223 Question Id : 5038906865 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frofafad o 2 fey o 3 aifvam, diafam sk Yeaw o awl & o Mearuffar o1 vmmr wifia fear 3k g & Yearuftiar gefta
Icd &1 TRHTY 0T § 3R Wi a1 Iramafes aRad=t @ siuqifad Igdr 82

Options :

1. % IRBIS

2. % Ui faed

3. % geRd

4.« TSA T T

Question Number : 224 Question Id : 5038906866 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is not true?

Options :

1. ¥ The penetrating power of Beta rays is more than that of both Alpha rays and Gamma rays
2. % Gamma rays are electrically neutral

3. % Alpha rays are positively charged particles and Beta rays are negatively charged particles

4. % Alpha particles affect photographic films



Question Number : 224 Question Id : 5038906866 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafiied Sy § ¥ P I T8 82

Options :

1. ¢ diteT ool BT Ve &FdT 3ehT fhRun SR 17T foolt GIHT ¥ 31 Bt 5|
2. % 77 fo0l faggd =0 ¥ I 8 §

3. % 3T fhRUl ¢ATAfRId HU § SR et fal Humafid %01 §

4. % 3TPHT HU BICUTh D Uhed! Bl THTAd Hd &

Question Number : 225 Question Id : 5038906867 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The SI unit of Radioactivity is Rutherford. It is defined as the quantity of any radioactive substance giving  disintegrations per second.
Options :

1. ¢ 10°

2. % 107

3. % 10°

4. % 108

Question Number : 225 Question Id : 5038906867 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

igqgm?ﬂmmmqﬁé%@Wﬁﬁﬁwﬁﬁw%wﬁqﬁuﬁamw%ﬁﬁuﬁm fageq
|

Options :
1. ¢ 10°
2. % 107
3. % 100
4. % 108



Question Number : 226 Question Id : 5038906868 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A fission chain reaction is said to be self-sustained-

Options :

1. # When the rate of production of electrons is equal to the rate of loss of electrons
2. ¥ When the rate of production of neutrons is equal to the rate of loss of neutrons

3. # When the rate of production of neutrons is more than the rate of loss of electrons

4. % When the rate of production of neutrons is less than the rate of loss of electrons

Question Number : 226 Question Id : 5038906868 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Options :

1. % Jq SAGCH & ST B & SAICI! B JHUM DI &Y b IRISR 8T §
2. ¢ T§ G & IATGH DI &R G o THUM DI & P SRR BIdll §

3. % S geH & IATGH DI &R SATCI] &b I B &2 I 3P glil §

4. % g Y2 & I P &R FaaeHl &b JHUH DI a2 I HH gldl §

Question Number : 227 Question Id : 5038906869 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In hydrogen atom the quantum number ms can’t have the value

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1.+1/2

2.-12

3.1

4.2



Question Number : 227 Question Id : 5038906869 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BRI R N HicA T ms BTHF -T2 81 Febdl|
Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1.+1/2

2.-12

3.1

4.2

Question Number : 228 Question Id : 5038906870 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
effect is the effect of splitting of a spectral line into several components in the presence of a static magnetic field.
Options :
1. ¥ zeeman
2. # stark
3. ® roger

4. % malone

Question Number : 228 Question Id : 5038906870 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Oy TH RR e &8F Pt Ui H Ueh quferHia a1 & &8 ged! | f[aHTiod 81 T HE ]
Options :

1. ¢ Sl

2. % Eh

3. % R



4. % @M

Question Number : 229 Question Id : 5038906871 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a quantum number?
Options :

1. # Principal quantum number

2. % magnetic quantum number

3. % spin quantum number

4. ¥ electric quantum number

Question Number : 229 Question Id : 5038906871 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafafed & § $H-91 Ue SicH IBa1 781 82
Options :

1. ¥ YOI HIUCH JBAT

2. % P DicH AT

3. % YIehUl B H IS

4. ¢ faggd ®icH IB

Question Number : 230 Question Id : 5038906872 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the model, electrons move in circular orbits like Newtonian particles in hydrogen atom.
Options :

1. ¥ Bohr’s

2. # Zeeman’s

3. % Einstein’s

4. % Bose’s



Question Number : 230 Question Id : 5038906872 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Aisd H, Saaci- 8138 o URATY] H, I & HUN B aRe TR Hefm3l § gad g |
Options :
1. Y8R
2. % Gy
3. % 3
4, % 99

Question Number : 231 Question Id : 5038906873 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the relation between velocity (v) of the electron and the radius of the orbit (P) through which the electron is revolving?
Options :

1.8 VoP

. ® Vol/P
3. % VoP

4 & Vo INP

Question Number : 231 Question Id : 5038906873 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AT B AT (v) 3R 3 FH&fl Bt B3 (P) R Seiae = uRehav 9 381 6, & oid o1 Yae g2

Options :
|.% VocP



> # Vo 1/P
3. 8 Vop

4 & Vo IAP

Question Number : 232 Question Id : 5038906874 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is the shortest wavelength in Balmer series.
Options :
1. ¥ 364.6 nm
2. % 365.6 nm
3. % 366.6 nm
4. % 367.6 nm

Question Number : 232 Question Id : 5038906874 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IR 9oft B Ta Bt e gl
Options :

1. ¥ 364.6 nm

2. % 365.6 nm

3. % 366.6 nm

4, % 367.6 nm

Question Number : 233 Question Id : 5038906875 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a correct value of Planck’s constant?
Options :



1. % 6.2 x 103375
2. % 6.3 x 107325
3.9 6.6 x 10345
4. % 6.8 x 10735

Question Number : 233 Question Id : 5038906875 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafeiad 7 @ oH-91 Wi fRudis &1 I8! 7 82
Options :

1. # 6.2 x 10335

2. % 6.3 x 107325

3.9 6.6 x 10345

4. % 6.8 x 1035

Question Number : 234 Question Id : 5038906876 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the correct relation between Joules and Volt.
Options :

1. % 17=62.5 %108y

2. % 17=62.5x10%v

3. % 17=6.25x 10" Pev

4.9 17=6.25x 108y

Question Number : 234 Question Id : 5038906876 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
[ 3R diee & o9 Te! Yae BT g9 He-

Options :




1. % 1J=62.5x 108y
2. % 17=62.5x10%v
3. % 17=6.25x101%yv
4.¥ 1J=6.25x 108y

Question Number : 235 Question Id : 5038906877 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the correct value of Rydberg constant obtained from the empirical Balmer formula?
Options :

1. ¥ 1.097 x 10"/m

2. % 1.08 x 10"/m

3. % 1.039 x 10"/m

4. % 1.03 x 10"/m

Question Number : 235 Question Id : 5038906877 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U IR A § U Rea!-Fadiss &1 98! 7 FufaRad # 9 SH-91 82
Options :

1.4 1.097 x 107/m

2. % 1.08 x 10"/m

3. % 1,039 % 107/m

4.% 1,03 x10"/m

Question Number : 236 Question Id : 5038906878 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Three types of radioactive decay occur in nature. Which of the following is not a type of radioactive decay?

Note: For this question, discrepancy is found in question/answer. So,this



question 1s 1gnored for all candidates.
Options :
1 a-decay in which a helium nucleus *He; is emitted

5 p-decay in which electrons or protons are emitted.

3 v-decay in which low energy proton is emitted

4 Y-decay in which high energy photons are emitted

Question Number : 236 Question Id : 5038906878 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tpfa B F geR & YA e g §1 Fafifad # Q H19-91 te ueR &1 st e 76l 2
Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

. 0-&T et vah @it a1t ag scafold giar &
, B-&T8 St geierglet A1 Sietet Scafoid a1t §

5 y-67 TSI &t el Tl Siete Scafoid ardl &

4 v-&T0 TEET 359 SofT aTel Biele Scafsid ald &

Question Number : 237 Question Id : 5038906879 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The relation between curie and becquerel (Both the unit of radioactive decay rate) is-
Options :

1. % 1 curie=3.6 x 1019 Bq

2.9 | curie =3.7 x 1019Bq

3. % 2 curie=3.8 x 1019Bq

4. % 1 curie = 3.9 x 1019Bq

Question Number : 237 Question Id : 5038906879 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

L SR 9B (1 ST & R P SHhT8) & ol Ty 7
Options :

1. % 1 curie = 3.6 x 1019 Bq

2.9 | curie =3.7 x 1019Bq

3. % 2 curie=3.8 x 1019Bq

4. % 1 curie = 3.9 x 1019Bq

Question Number : 238 Question Id : 5038906880 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is the energyreleased in the process of alpha decay of #%,,U.
(Given ®%5,10=238.05079 U, *;He=4.00269 U
B4g1Pa=23404363 U 1, H=1.100783 U
B75,Pa=237.05121 U, C= 931.5 Mev/u)
Options :
1. % 42.5 Mev
2.9 425 Mev
3. #® 0.425 Mev



4. # 425 Mev

Question Number : 238 Question Id : 5038906880 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

28,1 & 3ol &7 T UTehar A Aedar arell 4T ¢ -
(e amam 8, 2285, U=238.05079 U, *,He=4.002690 U
B45.Pa=23404363 U, 12, H= 1100783 U
B75,Pa=237.05121 U, C=931.5 Mev/u)

Options :

1. # 42.5 Mev
2. ¥ 425 Mev
3. % 0.425 Mev
4. % 425 Mev

Question Number : 239 Question Id : 5038906881 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank:

Lo TR g cog 0 Rt +4%n
Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

L s

5 2l



99

3. 4.1BE.

4. aND

Question Number : 239 Question Id : 5038906881 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R R D1 WRA & oL Jad Iuged fadhed &1 999 he:

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

L L
2. ke

3. TuBa

4. 4N

Question Number : 240 Question Id : 5038906882 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
LH+3H —*He+n+

Options :



1. ® 4.2 Mev
2. ¥ 327 Mev
3. ¥ 0.42 Mev
4. % 4,03 Mev

Question Number : 240 Question Id : 5038906882 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2-_|_]:—]:_'_2-_|_I_:[ —:’EEHE +n+

Options :
1. # 42 Mev
2. % 327 Mev
3. % 0.42 Mev
4. % 4.03 Mev
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Question Number : 241 Question Id : 5038906883 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is an example of organic polymer semiconductor.
Options :
1. ¥ Polythiophene
2. % Anthracene
3. % Doped phthalocyanines
4. # Indium phosphide

Question Number : 241 Question Id : 5038906883 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HTED IgAD AHUATAD BT U IGIGII ¢ |
Options :
1. ¥ T
2. % TR
3. % S{UTHIHT wITeNETA
4. % ST BRBISS

Question Number : 242 Question Id : 5038906884 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The minimum energy required in Silicon to separate an electron at room temperature from the atom is approximately-
Options :

1. # 0.0lev

2. % 0.03ev

3. % 0.04ev

4. % 0.05ev

Question Number : 242 Question Id : 5038906884 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

H& AU TP SIagi- I URATY] I Tad - & o8 R & Ay foreit Sl amed?
Options :

1. * 0.0lev

2. % 0.03ev

3. % 0.04ev

4.+ 0.05ev

Question Number : 243 Question Id : 5038906885 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The threshold voltage for germanium diode is approximately
Options :

1. * 0.1V

2902V

3.%# 03V

4. % 0.4V

Question Number : 243 Question Id : 5038906885 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



SH A STTS BT ¢gal dieed! (YRS dleesl) TIHT gl
Options :

. %01V

2.402V

3.% 03V

4.% 0.4V

Question Number : 244 Question Id : 5038906886 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The semiconductor used for fabrication of visible LEDs must at least have a band gap of
Options :

1. % 1.5ev

2. % l.6ev

3. % 1.7ev

4. ¥ 18 ev

Question Number : 244 Question Id : 5038906886 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RS SreFITaD! BT IUTNT €29 TAgS! (LED) & AT & §laT § 37T 88 3faRTd HH-9-54 HEIEIRY
Options :

1. * 1.5ev

2. % l6ev

3. % 1.7ev

4. % 18ev

Question Number : 245 Question Id : 5038906887 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The actual relation between atomic mass unit (u) and kilogram is:
Options :



1. % lu=1.630512 x 1027kg
2. ¥ lu=1.660539 x 1027kg
3. % lu=1.600512 x 1027kg
4. % 1u=1530512 x 1027kg

Question Number : 245 Question Id : 5038906887 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TRUTY] STHM S&Ts (u) AR B & s ardfds deu §-
Options :

1. % 1u=1.630512 x 1027kg

2. ¥ lu=1.660539 x 1027kg

3. % lu=1.600512 x 10%7kg

4. % 1u=1.530512 x 1027kg

Question Number : 246 Question Id : 5038906888 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The correct value of mass of proton in kilogram is
Options :

1. # 1.60262 x 1027kg

2. % 1.60262 x 1028kg

3.9 1.67262 x 10%7kg

4. % 1.67262 x 102kg

Question Number : 246 Question Id : 5038906888 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TieTH & Soam & fhaium & wel 7 gl

Options :



1. % 1.60262 x 1027kg
2. % 1.60262 x 102%kg
3.9 1.67262 x 10%7kg
4. % 167262 x 102kg

Question Number : 247 Question Id : 5038906889 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Let there be a physical quantity X = abc. If percent error in a, b and ¢ are 1 percent, 2 percent and 4 percent respectively, then the percent of error
in X is:

Options :

1. ¥ 7 percent

2. % 8 percent

3. % 3 percent

4. % 10 percent

Question Number : 247 Question Id : 5038906889 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T U AR X = abe §1 TS a, b 7T ¢ f Ufd=ra Ffe = 1 ufawma, 2 ufawra qur 4 ufawa 8, 99 x fo ufawrd Ffe §:-
Options :

1. ¢ 7 Ufa=rd

2. % g yfcIRrd

3. % 3 yfd=ra

4. % 10 Yfd=Id

Question Number : 248 Question Id : 5038906890 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which is not a scalar quantity?
Options :



1. * Time
2. % Momentum
3. #® Volume

4. # Density

Question Number : 248 Question Id : 5038906890 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
S I- T Sife ARy T 82

Options :

1. #* 9HY

2. ¢ ATl

3. % AHIdd

4, % Ydd

Question Number : 249 Question Id : 5038906891 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following pairs of physical quantities don't have the same dimensional formulas?
Options :

1. # Work and torque

2. # Angular momentum and Planck’s constant

3. % Tension and surface tension

4. ¥ Impulse and linear momentum

Question Number : 249 Question Id : 5038906891 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFrafafed § 9 difde IRl & fed g & fadta g gam =61 82
Options :

1. % B 3R g 3o



2. ® PN YTl 3R Weh RRIH
3. ¢ TG 3R g8 a9
4. % 3T 3R AP AT

Question Number : 250 Question Id : 5038906892 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the SI Unit of angular frequency of a wave?
Options :

1. % rads2

2. % rads?

3. ¢ rads’!

4. % rads

Question Number : 250 Question Id : 5038906892 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ol O T BTN SGRT BT TH. 3118, AHS o1 gidll 82
Options :

1. % rads2

2. % rads?

3. ¥ rads’!

4. % rads

Question Number : 251 Question Id : 5038906893 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is obtained if we calculate the area under the force-displacement graph?
Options :

1. ¥ Impulse

2. % Momentum



3. % Work done
4. # Torque

Question Number : 251 Question Id : 5038906893 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ife B I9-fARITI T & Sid & d 1 U] R &, dl HEferad o ¥ 31 UTed gidl 672
Options :

1. % 3o

2. % ATl

3. ¢ fea mn el

4. % §Q YOI

Question Number : 252 Question Id : 5038906894 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A steel wire 0.361 m long has a mass of 9.0 x 1073 kg. If the wire is under a tension of 25 N, what is the speed of transverse waves on the wire?
Options :

1. ¥ 31.67 ms™!

2. % 42,54 ms!

3. % 16.63 ms™!

4. % 2787 ms!

Question Number : 252 Question Id : 5038906894 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

0.361 1 e forelt Wha & IR &1 Gqd@M 9.0 x 1073 fHUT 1 afd IR W a1d 25 N 8, A dR WR U a1 &1 a1 o1 82
Options :

1. ¥ 31.67 ms™!

2. % 4254 ms™!

3. % 16.63 ms™!



4. % 2787 ms™!

Question Number : 253 Question Id : 5038906895 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is not true if a disc rotates with uniform angular velocity?

Note: For this question, discrepancy 1s found in question/answer. So,this

question is 1gnored for all candidates.
Options :

1. The orientation of the axis of rotation remains the same.

2. The speed of rotation is non-zero and remains same.

3. The angular acceleration is non-zero and remains same.

4. The speed of rotation is zero and remains same.

Question Number : 253 Question Id : 5038906895 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

O BT (S T JHM HI0M a7 gl €, Ot Al T F H1H-91 9 HUF I -Tal 82
Note: For this question, discrepancy 1s found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. §UI 37&f 1 fermm a8t 38t 8|

2. ol &1 71fd T 61 Bt § SR IHH I8 ]

3. PG @RI AR & 3R IE B gl

4. O Y A YA § 3R I8 @A B

Question Number : 254 Question Id : 5038906896 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Two wires of copper having the length in the ratio 9:1 and their radius in the ratio 1:7, are stretched by the same force. The ratio of longitudinal
strain in the two will be -

Options :
1. # 1:16
2. % 81:1
3. ¥ 49:1
4, % 1:63

Question Number : 254 Question Id : 5038906896 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
aﬁ%a;rﬁznwwaaﬁm ¥ U H § 3R I! 01 &1 30T 1.7 8, D) T & 9 gRT Wl SIrar 1 a1 7 srced fawfa &1
SIJUTd g1

Options :
1. ®# 1:16
2. % 81:1
3. ¥ 49:1
4. % 1:63

Question Number : 255 Question Id : 5038906897 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two parallel rail tracks run in the north- south direction. On one track train A moves north with a speed of 84 km/hr and on the other track train B
moves south with a speed of 130 km/hr. The velocity of train A with respect to train B is:

Note: For this question, discrepancy is found in question/answer. So,this

question is 1gnored for all candidates.
Options :

1. 56 m/s

2.214 m/s

3. 65 m/s

4. 60.1 m/s



Question Number : 255 Question Id : 5038906897 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& JHMIR X Uit STR-G 201 =M & I g | Th ¢ IR o A, 84 fohHl/eiel &1 Tifd I IR P 3R Iad! § 3R iR ¢ W ¢ B, 130
foptfl/der Bt 1 T <féur Bt SR Tl 81 ST B B JoY H ST A BTAT S

Note: For this question, discrepancy 1s found in question/answer. So,this

question is 1gnored for all candidates.
Options :

1. 56 HICY/HhS

2.214 HIRADHS

3. 65 Hicx/Ah S

4. 60.1 Hicx S

Question Number : 256 Question Id : 5038906898 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Light of wavelength 4000 A is incident at small angle on a prism of apex angle 8°. The prism has n, = 4.6 and n, = 3.4. The angle of dispersion
produced by the prism in this light is-

Options :

1. ¥ 9.6°

2. % 0.08°

3. % 0.192°

4. % 0.172°

Question Number : 256 Question Id : 5038906898 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
4000A TG P YHTRT, TP MY BIT (apex angle) 8° & TUoH TR BIC BT TR MUfad gl g | DT Hn, =4.6 3R n, =34 8| ST USRI H
oo gRT Sest uR&Tw T 3-




Options :
1. ¥ 9.6°
2. % 0.08°
3. % 0.192°
4. % 0.172°

Question Number : 257 Question Id : 5038906899 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What will be the reaction when two soap bubbles of different radii are in communication with each other?

Options :

1. # Air flows from larger bubble into the smaller one

2. % The size of the bubbles remains the same

3. ¥ Air flows from the smaller bubble into the large one and the large bubble grows at the expense of the smaller one
4. ® The air flows from the larger bubble

Question Number : 257 Question Id : 5038906899 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o fafie Breamstt & g & & gagd S0 & TR | g1 al &1 Ufdfshar grm?

Options :

1. % g1 9S gagd 4 BIC gaga H g8 §

2. % gAY BT SHR JHM g1 §

3. ¥ BT BIC g9 U 98 gaga H 98 ¢ 3R 981 agal Bic §agd & Yo W faHRId giar g
4. % BI19S gAY I T8l B

Question Number : 258 Question Id : 5038906900 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which is the example of centrifugal force?
Options :



1. ¥ A body tied to one end of a string is being rotated in a circle; the force is supplied by the tension of the string.
2. # The moon revolving around the earth, the force is the gravitational pull of the earth on the moon.
3. % A person riding a cycle along a circular path, the necessary force is supplied by a sidewise pressure exerted by the road on the tyres.

4. ¥ A stone tied to one end of a string is being rotated in a circle, the stone itself exerts an equal and opposite force on the hand holding the
string.

Question Number : 258 Question Id : 5038906900 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UGS T BT I&TER0T I AT 52

Options :

1. % T SR & Ueh RR I ST g1 Uab U U gt H GHIT ST 8T 8; 9 BT 3MTYfd SR b o-1d 9 el ¢ |

2. % AT Il & IRT 3R TFHR AT §, I IGAT R Y&l BT [Hcaldh YUl Ra1d ¢ |

3. % T JAIHR 94 TR ARfhd Pt JaRI B dTel Ffad, TRRI IR J8H gRT Y T8 Ur%f Ga1d gRT TaRIdH 9 &1 3MYfd dal g |
4.« TH SR & T RN Y ST g3 IR T g H FHIT ST X818, W4 TR SR Dl Udhs Xg+ aId 81 TR SRIER 3R fusid 96 aman g1

Question Number : 259 Question Id : 5038906901 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the maximum time period of simple pendulum on earth ?

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. 180.5 second

2. 100 second

3.90.5 second

4. 84.6 second

Question Number : 259 Question Id : 5038906901 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



g2t IR IR Al o1 B ad SHTadebid o1 i
Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1.180.5 9Hh 3

2.100 Y&Hs

3.90.5 e

4.84.6 4HS

Question Number : 260 Question Id : 5038906902 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the most elastic material-
Options :

1. ¥ Iron

2. % Copper

3. % Glass

4. ¥ Wooden

Question Number : 260 Question Id : 5038906902 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y 3P T P T Be-
Options :

1. ¢ gl

2. % qia

3. % P

4. % dPhol
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Question Number : 261 Question Id : 5038906903 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Electric capacity of a semiconductor _ with increase in temperature.
Options :

1. ¥ Increases

2. % Decreases



3. # Remains same

4. * First increases and then decreases

Question Number : 261 Question Id : 5038906903 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

oA A 9fg & 1Y T SidEree 3 fdegd araear . Bl
Options :

1. ¢ Sgdl

2. % gedt

3. % gl ol

4. % Ugd 9l  fhr gea

Question Number : 262 Question Id : 5038906904 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What will be the change in momentum if a 10 Newton force applied on a 20 kg mass object for a 10 second?
Options :

1. # 5 kg m/sec

2. % 100 kg m/sec

3. % 200 kg m/sec

4. % 1000 kg m/sec

Question Number : 262 Question Id : 5038906904 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

a1 § gRacdH a1 8T Afe 10 < HT U 9 20 a1 Sod= arelt avg R 10 Tare & e HRRd g2
Options :

1. % sfeardt A

2.+ 100 fear it A,

3. % 200 fpaT 1A,




4. % 1000 TP d. A,

Question Number : 263 Question Id : 5038906905 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Waves that are useful for communication purpose are
Options :

1. # Ultraviolet

2. # Infrared

3. % Micro waves

4. # Visible light

Question Number : 263 Question Id : 5038906905 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IR & forg Iuarht oA gl
Options :

1. % TR

2. % Jd¥dd

3. ¢ geH ol

4, ® SR YD

Question Number : 264 Question Id : 5038906906 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the unit of Self Induction?
Options :

1. ¥ Henry

2. % Farad

3. % Weber

4. % Tesla



Question Number : 264 Question Id : 5038906906 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
WIRSGE BT TS 1 52

Options :

1. v &I

2. % S

3. % JR

4. % Tl

Question Number : 265 Question Id : 5038906907 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What will be the force experienced by an a particle moving parallel to magnetic field?
Options :

1. % 12 Newton

2. % 0.2 Newton

3. ¥ Zero Newton

4. % (.8 newton

Question Number : 265 Question Id : 5038906907 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

JIDIT &F o FHFIR A o HU GRT U foa1 S aTel §d 1 812
Options :

1. % 12cH

2. % 0.29YcH

3. I e

4. % 0.8 cd



Question Number : 266 Question Id : 5038906908 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If we need to find out 3uF capacity, the arrangement of three 2uF capacitor will:

Options :

1. # All three in series

2. # All three in parallel

3. ¥ Two capacitors in series and third in parallel with the combination of first two capacitors

4. % Two capacitor is in parallel and third is in series of first two combination

Question Number : 266 Question Id : 5038906908 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e §H 3uF &HdT BT IdT T &1 STaRIHdT &, O 2uF b i TRl BT JIIRT B3
Options :

1. % 1 T Aol |

2. # T Dbl JHIAR U I

3. ¢ T GYTRT YUliehd | TUT TRIRT YYH &l & GaIo & IHIaR H H

4. % T GUTRT JHIR HH T 9T TRRT, UYH &) & Ao & Jufipa &

Question Number : 267 Question Id : 5038906909 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two spherical shells of iron material of radius r and 4r carry charges -q and 5q respectively. What is the quantity of charge that will flow into the
Earth if the inner shell is grounded?

Options :
1. % g/2
2.¥ q/4
3. % g3
4. % g/5

Question Number : 267 Question Id : 5038906909 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

T 1 3R 4r b AR & Ut & & MR M HH: -q 3R 5q P AV T6- B ¢ | (S 3MARS W B YIihd foar sirar g
forat 3ma T A gt H varted gl

Options :

1. % g/2

2. ¥ g/4

3. % q/3

4. % g/5

Question Number : 268 Question Id : 5038906910 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Suppose the force is f which is acted in a charge situated on the axis of a dipole. Now the charge is shifted to double the distance . So the force
will be:

Options :
1. ¥ /8
2. % {/5
3. % /3
4. % /9

Question Number : 268 Question Id : 5038906910 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A Ao o 9 £8 o fg8a & 318 TR YT 31w & T QT 8 | 319 TR 1 g1 gl IR BT ST ¢ | < & g
Options :

1. ¥ /8

2. % f/5

3.% 13

4, % f/9

Question Number : 269 Question Id : 5038906911 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Find the force on the charge present on point P in the downwards direction perpendicular to P:

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

L V3 kg

5, V2 kP
5 V2 kP

, K anr

Question Number : 269 Question Id : 5038906911 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fdg P IR HIN[G 3MA% TR P & ddad +1d Bt fe=n & T a1 §a J1d bifor-
Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

V3 k q¥/I2

1
5 2 kg

3 N2 k@12



, K @nr

Question Number : 270 Question Id : 5038906912 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The radius of hollow metal sphere is 5 cm and the potential on its surface is 10 volts when charged. What is the value of the electric field at the
center of the metal sphere?

Options :

1. # 3 Volt/meter
2. # 7 Volt/meter
3. % 15 Volt/meter
4. ¥ 0 Volt/meter

Question Number : 270 Question Id : 5038906912 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

GRS YT & TMal B s 5 It § SR 1ol 8 IR 39! Iag IR fayd 10 diee g1 U1 & el & s H faggd & &1 7H 1 81T 82
Options :

1. % 3 dlce/Hie]

2. % 7 dlee/HIcR

3. % 15 dlee/HIcR

4. 0 dlcc/HIY

Question Number : 271 Question Id : 5038906913 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The diameters of molecules of Hydrogen, chlorine and nitrogen are respectively 2.5 A, 4.2A and 3.4A. Compare their thermal conductivities at
any temperature and pressure.

Options :
1. % 1:223:1.91



2.%2:2.13:3.12
3.90.226:0.477 : 0.4577
4, % 1:321:2.19

Question Number : 271 Question Id : 5038906913 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%@Emaaﬁ:{eﬁwgam & UL o ST SHH: 2,54, 4.2A 3R 3.4A § | foddt oft AUAM 3R gaTd WR 3! SWAT ATl B ol
|

Options :

1. % 1:223:1.91
2.%2:213:3.12
3.90.226: 0477 :0.4577
4, % 1:321:2.19

Question Number : 272 Question Id : 5038906914 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

An X-ray machine produces X-rays of wave length 0.1A. Its accelerating voltage is:
Options :

1. ¥ 120.5 KV

2. % 2304 KV

3. % 2123KV

4.9 123.75KV

Question Number : 272 Question Id : 5038906914 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP TaH-X AR 0.1 A T TS D1 TH-fahvl ST Bl § | BT @R dlee o 6:
Options :

1. % 120.5KV

2. % 2304 KV




3. ¥ 2123KV
4. % 12375 KV

Question Number : 273 Question Id : 5038906915 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Q - value of the following reaction is:

IN;+4He;, —p O+ H;
Options :

1. # 2.97 Mev

2. % 495 Mev

3. % 1.192 Mev

4. % 1.1935 Mev

Question Number : 273 Question Id : 5038906915 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafaa sififrar &1 Q - A 8-

IN;+4He;, —» 7O+ H;
Options :

1. # 2.97 Mev

2. % 495 Mev

3. % 1.192 Mev

4. ¥ 1.1935 Mev

Question Number : 274 Question Id : 5038906916 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In a coil of self inductance SmH the current rises from 0 to 1A in 0.1s at a uniform rate. The magnitude of emf. Induced is:
Options :



1. ® 0.5V
2.4 0.05V
3. % 0.07V
4. % 04V

Question Number : 274 Question Id : 5038906916 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

WIREE SmH B Uh HUSH! B URT0.1s T Th GHM R Y 0 Y 1A I §¢ oI1d! ¢ | IR STHATE &7 IRHAT0T §:
Options :

1. # 0.5V

2. % 0.05V

3. * 0.07V

4. % 04V

Question Number : 275 Question Id : 5038906917 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The radiations of minimum wavelength in the electromagnetic spectrum is:
Options :

1. * radio wave

2. * beta-rays

3. % X-rays

4. ¥ gamma rays

Question Number : 275 Question Id : 5038906917 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rggadesia Wagy & =am a1 3o & fafeor 2
Options :

1. ® YA R



2. % gierfevul
3. % TR
4. ¢ T {0

Question Number : 276 Question Id : 5038906918 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If a wave is incident obliquely on the boundary between two different media the transmitted wave is called
Options :

1. ¥ Refracted wave

2. # Standing Wave

3. # Electromagnetic Wave

4. % Radial Wave

Question Number : 276 Question Id : 5038906918 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fe B T < i Aremwt 1 G wR foRest smufed g ¥ o uRTIfg R bl EANE
Options :

1. ¥ 3Uafcd O

2. % S{UTTHT AT

4. % AT

Question Number : 277 Question Id : 5038906919 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A train that can move at almost the speed of light is going at speed of 0.99¢ with respect to ground. The length of the train measured when it was
not moving was 100m. Now a woman tries to measure the length of the train, what will it be?

Options :
1.¥ 14m
2. % 10m



3. % 18m
4, % 24 m

Question Number : 277 Question Id : 5038906919 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T ¢ Sl TTHT UhTRT BT 111 & T Fhll § a8 SfHI & ATUE 0.99¢ Hi 1T I ST G 8 | 5Td o a1 9 a1 A a0 AT 7T ¢ &1 AT
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Options :

1. ¢ 14 HIeR
2. % 10HIR
3. % 18 HIR
4. % 24 TR

Question Number : 278 Question Id : 5038906920 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following option is correct of the given option:

The two basic postulates of the special theory of relativity are as follows:

[x] The laws of physics must be the same for all observers moving at constant velocity with respect to one another.
[y] The speed of light must be the same for all inertial observers, independent of their relative motion.

Options :

1. # x is correct but y is wrong
2. # yis correct and x is wrong
3. ¢ both are correct

4. # both x and y are wrong

Question Number : 278 Question Id : 5038906920 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Prafrd 2 i O ey o o e 71 T8 &
TUET o faRy Rigid &1 ol §HaTd! YR 39 UHR ©:



[x] T AR & ATUef FRR o1 § 71fd 1 arel it Uit & fore iifcest o 4w 3o g1 =gl
[y] G4 STe g ydderet & fore Ut ot 7ifa T\ g1+t Tnfee, 3! ardel 1fd T W |

Options :

1. ® XW%WyW%
2. % y R g AR x A §
3. ¥ G AR §

4. % x 3R y QHI Tad &

Question Number : 279 Question Id : 5038906921 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Clocks in motion relative to an observer appear to be slowed down by a factor .This is known as
Options :

1. % Time hastening

2. ¥ Time dilation

3. ® Time static

4. # Time pausing

Question Number : 279 Question Id : 5038906921 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Uer & TTe Mo 9fSal U HRG gRIAMN Udd ek 8138 S FUA T gl

Options :

1. % gAY DI Slegdoll (CI3H g4-T)
2. ¥ GHY Hdld (CT8H SIZAF)

3. % gy &) fRRAT (2137 W)
4. % Y &1 ST (CTZH UIRIT)

Question Number : 280 Question Id : 5038906922 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Fill in the blanks

The conservation of mass—energy law requires that the sum of the mass—energy of a system of particles before interaction must the sum of
the mass—energy of the system after interaction.

Options :

1. # Be greater than
2. % Be lesser than
3. % Not be equal to
4. ¥ Be equal to

Question Number : 280 Question Id : 5038906922 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fYad ®iM Pt gfd FifoTe-
SHA-SH ol (ITH & W& & oy 3awge ¢ fob 31 foban & §1E YUITel 1 goad T -Soii & anT g =Ry |

Options :
1. % g el
2. % YHH
3. % % SRR !
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Question Number : 281 Question Id : 5038906923 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Science has certain characteristics who distinguish it from other spheres of human endeavour. These characteristics define the nature of science
except one of the following. This is

Options :

1. * Science is a particular way of looking at nature
2. ¥ Science is a narrow body of knowledge

3. % Science is an interdisciplinary area of learning

4. % Science is always tentative

Question Number : 281 Question Id : 5038906923 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

O @) Fe FARAWATE & St 38 HIHd T & 317 &1 I 3T it & | F faRvan fgffied & @ fod te &1 Siess fagH &1 usfd &t
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Options :



1. % fag Upfa o) a7 &1 T faRy a1 8
2. ¢ O3 9 &1 U T ivf e §

3. % fage IRaq &1 e 3fa:fawg &7 7

4. % a9 gARM STt g §

Question Number : 282 Question Id : 5038906924 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Most investigations in science involves some form of scientific method. Which one of the following is not an element of scientific method?
Options :

1. # Observations

2. % Hypothesis

3. ¥ Testing without prediction

4. ® Scientific theory

Question Number : 282 Question Id : 5038906924 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 3[qefih

2. ® URSeHT

3. ¥ Jd &Y & fom1 miiem

4. % Iy Rt

Question Number : 283 Question Id : 5038906925 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Educational aims are framed in accordance with our socio economic and sociocultural needs. Which of the following is not one of the aims of
Teaching-learning science?

Options :



1. #® To deliver a scientific temper, attitude and honesty
2. % To develop an artistic bent of mind
3. # To acquire the requisite theoretical knowledge and practical technological skills to enter the world of work

4. ® To nurture the natural curiosity, aesthetic sense and creativity in science and technology

Question Number : 283 Question Id : 5038906925 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. # I VB 3R SHHESRT Qo

2. ¥ - &1 U HaAlcHD HebId fdehRId BT

3. % B P G H YR B o [0 SaAH G I 3R ATTGIRD qAh11h! DI IR BT

4. % fogM 3R Mefie! & vrepfae o, died Sy 3iR AT AT BT U] AT

Question Number : 284 Question Id : 5038906926 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who consolidated his theories in his book “New System of Chemical Philosophy™?
Options :

1. # Isaac Newton

2. % John Dalton

3. # JC Bose

4. ® Niels Bohr

Question Number : 284 Question Id : 5038906926 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fohe 3 Rigial &1 3iu-t gas «g Ried 3ifs it d fhaiaw ! o wafebd faar

Options :



1. ® 3T e
2. ¢ i e
3. % ST I
4. % IR

Question Number : 285 Question Id : 5038906927 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is a plasma physicist who initiated and founded the Plasma Science Society of India

Options :

1. ¥ Bimla Buti

2. % Venkatraman Radhakrishnan

3. # Chandrasekhara Venkata Rahman
4. % JC Bose

Question Number : 285 Question Id : 5038906927 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T e Wifiae A § e e ag Rl st Sfear & e eid SR R St
Options :

| v fmen géte

2. % JHcIAU IYHUH

3. % FERRR dobe TGHM

4. % ST SN

Question Number : 286 Question Id : 5038906928 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The teacher plays an important role for nurturing creativity in learners. Which of the following is not an important role?
Options :

1. # Assist students in developing models of inquiry and discovery



2. % Guide students in the use of some type of approach
3. # Recognise and appreciate creative ideas and products of students

4. ® Provide reach variety of learning experiences to the students

Question Number : 286 Question Id : 5038906928 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rrenfiat & TerTEedmdr & g & o e T mgayut Yftret Furar g1 e fou i st uftiet te e @1 T8 82
Options :

1. % UBdI3 3R Wil & Hisd s RId &3 H Sl &1 Tgradl &l

2. ¢ {5 UBR & U & IuanT § faenfiat o1 Anfex= o

3. % FE &b TATHD [AIRT 3R UG B UG 3R ST IR B

4. % B DI [AUF TSR & GG & 3HT U HY

Question Number : 287 Question Id : 5038906929 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following skills must a Physics teacher have?
Options :

1. ¥ Skill of closure

2. ® Skill of talking extempore on other subjects

3. % Skill of contradicting established formulaes

4. ® Skill of making the students afraid of him/herself

Question Number : 287 Question Id : 5038906929 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafea & § oF 9 SIXd U Hifde! Rieeds & ur gFr anfiie?
Options :

1. ¢ AT B BT BT

2. % 3 fowdl IR TS U F F1d P BT HINA




3. % RIS L BT WS B BT DI
4. % BT P GG Y T BT S

Question Number : 288 Question Id : 5038906930 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sum up the role of the teacher in promoting Argumentation except which of the following
Options :

1. #® provide an open ended situation open in this to the learners to initiate argument

2. ¥ Ensure nonhomogeneous participation of learners in argumentation

3. # Provide positive feedback to the learners

4. ¥ Help the learners to summarise the major ideas evolved In argumentation at the end

Question Number : 288 Question Id : 5038906930 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

do-fadds &1 ggrar ¢ H e o1 YT &1 IR Fafafad § 3 f5d Sear 82
Options :

1. % TR&iIT &1 Teb = B & forg Weit R Uar &<

2. ¢ Th-fadd | Rienfial & IR-gaey UriieRt gHfdd &

3. % TRyl & GpRIES Ufcfoar UaH o3

4. % 3iq ¥ qob-fade ¥ faemRid v f9aRT o dau o uegd o3 1 Rignfial o1 ggradr &3

Question Number : 289 Question Id : 5038906931 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one of the following is the correct age range given by Peaget's Stage Dependent Theory
Options :

1. #® The sensory motor stage - 0 to 3 years

2. # The pre operational stage - 4 to 6 years

3. ¥ The concrete stage - 7 to 11 years



4. ® The formal stage - 12 to 16 years

Question Number : 289 Question Id : 5038906931 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Fad A AROT- 0 Y 3 T

2. % T-SHRRAA LS - 4 6 I

3.¢ B AT- 78 11 T8

4. % RS aROT- 12 16 TH

Question Number : 290 Question Id : 5038906932 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What should be the roles of teachers and learners in the Teacher-centred Approaches of Education?
Options :

1. # Learner acts and teacher facilitates learning

2. ¥ Teacher is active and learner is passive

3. # Teacher makes teaching learner active

4. ® Both teacher and learners are passive

Question Number : 290 Question Id : 5038906932 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 291 Question Id : 5038906933 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one of the following is not a constructive teaching model?
Options :

1. #* Nussbaum and Novick Model (1982)

2. ¥ Niedderer Model (1987)

3. % Model proposed by Wittrock (1994)

4. % 7 F Model (1997)

Question Number : 291 Question Id : 5038906933 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad @ 9 & 91 U TS 1801 Aigd T8 82
Options :

1. % 99 3R FIfdd Ared (1982)

2. % AUSR AISd (1987)

3. % fdecie gRIURdIfad ATSd (1994)

4. ¥ 7T% HISd (1997)

Question Number : 292 Question Id : 5038906934 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to Black and McClintock (1995), the Interpretation Construction (ICON) Model of teaching —learning consists of _ steps
Options :

1. % 05

2.9 07

3. %09

4. % 11

Question Number : 292 Question Id : 5038906934 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i U A faieia (1995) F TR, e HgaRH (3. 413N T.) Hisd offp AffT-afmd  wRurgag
Options :

1. % 05

2.¥ 07

3. % 09

4, % 11

Question Number : 293 Question Id : 5038906935 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a phase of 5Es model of teaching-learning in school?
Options :

1. ¥ Ensure

2. % Engage

3. % Explore

4. # Explain

Question Number : 293 Question Id : 5038906935 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

L. ¢GRI BT (TR)

2. % FEH A (T

3. % Rigid S (TRwR)

4. % RAT (TRIEH)

Question Number : 294 Question Id : 5038906936 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which one of the following is not an efficient role of a teacher in problem solving approach?
Options :

1. #® Teacher’s role is to facilitate students to define the problem

2. ® Teacher’s role is to encourage students to plan their method of problem solving

3. # Teacher’s role is to encourage the group that has completed the task at the earliest to extend help to the group struggling with the problem,
so that they can do it within the given time frame

4. ¥ Teacher’s role is to explain the ideas on the problem which is not solved

Question Number : 294 Question Id : 5038906936 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 295 Question Id : 5038906937 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following teaching methods does the student acquire the knowledge himself by discovering the facts himself?
Options :

1. # Tutorial method

2. % Demonstration method

3. ¥ Heuristic method

4. ¥ Discussion method

Question Number : 295 Question Id : 5038906937 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fufafad 7 T feg Riewr ugfa 7 o1 W9 al &1 @ $e Wd I U Bl 82
Options :

1. % egaiivgd fafy

2. % Yag fafdy

3.« (A fafy

4. % i fafyy

Question Number : 296 Question Id : 5038906938 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Analogy is a process of identifying similarities between two concepts. Which one of the following is not a step of teaching with analogies model?
Options :

1. ¥ Introduce the information

2. % Review the analogue concept

3. # Indentify relevant features of the target and analogue

4. #¥ Map similarities

Question Number : 296 Question Id : 5038906938 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ SR BT uR=g &
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4. % gHHEATS & af{d B

Question Number : 297 Question Id : 5038906939 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A science teacher needs to have good communication skills for effective teaching-learning of science. Which one is not a quality of an effective
science communicator?



Options :

1. ¥ The communicator should use hard language

2. # The communicator should understand well whatever he/she wants to communicate
3. # The communicator should believe in two way interactive communication

4. ® The communicator should know his /her students well and should be sensitive towards their needs and concerns

Question Number : 297 Question Id : 5038906939 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ TIR® B HSR HHT BT YA HRAT 1T
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Question Number : 298 Question Id : 5038906940 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one of the following is incorrect?

Options :

1. #® Language teaching needs to be multilingual

2. % Tt is imperative that we honour the child's home language(s)

3. # The three-language formula needs to be implemented in its spirit

4. ¥ There should be no study of classical and foreign languages at any stage

Question Number : 298 Question Id : 5038906940 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :



1. % Y7 fRigror sgumdt g1 1T
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Question Number : 299 Question Id : 5038906941 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which one is the advantage of science kit?

Note: For this question, discrepancy is found in question/answer. So,this
question 1s 1gnored for all candidates.

Options :

1. They provide easy availability of all the materials for performing experiments at one place and are moderately priced

2. Only a few number of activities and experiments can be performed with a few apparatus and materials

3. They are portable and can be used both indoors and outdoors

4. They save time required for collecting the materials and apparatus each time a teacher wants to perform activity or experiments

Question Number : 299 Question Id : 5038906941 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.

Options :
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Question Number : 300 Question Id : 5038906942 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one of the following precautionary measures is related to electrical hazards ?

Options :

1. % All the chemical should be adequately labelled

2. % Careful supervision is required in the use of corrosive substance

3. % Special care must be taken in some of the experiments such as benzene should be replaced by methylbenzene, wherever possible
4. ¥ Equipment should carry a distinctive on/off light

Question Number : 300 Question Id : 5038906942 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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